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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 210529330
Question Shuffling Allowed : Yes

Question Id : 2105298606 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)

Question Label : Comprehension

Based on the data in the table, answer the questions that follow

The following table embodies the details about the students of the different departments' A, B
and C in a University for participating in the blood donation camp.

Participation in Blood Donation Camp - Data

Percentage Percentage of blood | Number of blood

Department of Girls donatingGirls* donating Boys*
A 25% 40% 48
B 40% 50% £
30% 70% 39

* - out of total blood donors

Sub questions

Question Number : 1 Question Id : 2105298607 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In case all the girls in the department 'A’ donated blood, then the number of boys in the
department ‘A’ who did not participate in the blood donation camp is

1.32
2.48
3. 60
4.56

Options :

21052933801. 1
21052933802. 2
21052933803. 3

21052933804. 4

Question Number : 2 Question Id : 2105298608 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of students who donated blood in the department 'C' is
1. 29

91

130

169

da

Options :

21052933805. 1
21052933806. 2
21052933807. 3
21052933808. 4

Question Number : 3 Question Id : 2105298609 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The number of girls in the department 'A’ who donated blood is

1. 32
2.130
3. 55
4.48

Options :

210529338009. 1
21052933810. 2
21052933811. 3

21052933812. 4

Question Number : 4 Question Id : 2105298610 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If 45 boys from the department 'B' did not donate blood, then the total number of students in

the department 'B' is

1.120
2. 150
3. 80

4. 200

Options :

21052933813. 1
21052933814. 2
21052933815. 3

21052933816. 4

Question Number : 5 Question Id : 2105298611 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the ratio of the number of blood donors in the department ‘A’ compared to the
number of blood donors in 'B"?

B
2. 25
3.9:16
4 815

Options :

21052933817. 1
21052933818. 2
21052933819. 3
21052933820. 4

Question Id : 2105298606 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)
Question Label : Comprehension
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A 25% 40% 48

B 40% 50% 75

C 30% 70% 39
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Sub questions

Question Number : 1 Question Id : 2105298607 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



afe [um a &1 9 Tsital - e a1 © o Yaaa | NI @ ar [GHT A & [enfdal @
E %_:

1.32
2.48
3. 60
4.56

Options :

21052933801. 1
21052933802. 2
21052933803. 3

21052933804. 4

Question Number : 2 Question Id : 2105298608 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933805. 1
21052933806. 2
21052933807. 3

21052933808. 4

Question Number : 3 Question Id : 2105298609 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 32
2.130
3. 55
4.48

Options :

210529338009. 1
21052933810. 2
21052933811. 3

21052933812. 4

Question Number : 4 Question Id : 2105298610 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.120
2. 150
3. 80

4. 200

Options :

21052933813. 1
21052933814. 2
21052933815. 3

21052933816. 4

Question Number : 5 Question Id : 2105298611 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933817. 1
21052933818. 2
21052933819. 3

21052933820. 4

Sub-Section Number : 2
Sub-Section Id : 210529331
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 2105298612 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If your students are identified as 'Unable but willing' in terms of their performance readiness
level, which of the following methods of teaching will be considered appropriate to deal with

them?

1. Giving challenging tasks during teaching

2. Providing scope for sharing responsibility and recognition

3. Mentoring and guiding with close supervision

4. Small step presentations with error free tasks and frequent reinforcement

Options :

21052933821. 1
21052933822. 2
21052933823.3
21052933824. 4

Question Number : 6 Question Id : 2105298612 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933821. 1
21052933822. 2
21052933823. 3

21052933824. 4

Question Number : 7 Question Id : 2105298613 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

dentify from the following list of competencies of teaching, those which are related to
personality and attitude

A. Managing

B. Monitoring

C. Locus of control

D. Planning

E. Self-efficacy

Choose the correct answer from the options given below:

1. Aand B only
2. B and C only
3.Cand D only
4. Cand E only

Options :



21052933825. 1
21052933826. 2
21052933827. 3

21052933828. 4

Question Number : 7 Question Id : 2105298613 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933825. 1
21052933826. 2
21052933827.3
21052933828. 4

Question Number : 8 Question Id : 2105298614 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List1 List II

Assessment and Test @

{ . Description

interpretation methods

A. Formative assessment |. The test data help us to determine a student’s rank

) |Il. The test data tell us about a student's level of
B. Summative assessment .
proficiency

) lIl. The intention in the evaluation is to identify scope for
C. Norm-referenced testing )
improvement

. , . V. Evaluation is in the form of judgment to be used for at
D. Criterion-referencing testing

least immediate future

Choose the correct answer from the options given below:

TA-LB-ILC-IILD- IV
2A-IILB-IV,C-1,D-I
3A-IVB-IILC-ILD-I
4 A-1,B-1,C-IV,D-1ll

Options :

21052933829. 1
21052933830. 2
21052933831. 3

21052933832. 4

Question Number : 8 Question Id : 2105298614 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T.A-1LB-1ILC-1ILD-IV
ZA-ILB-IV,C-,D-1
3A-IV,B-NIL,C-I,D-1
4 A-1LB-1,C-1V,D-1ll

Options:

210529338209. 1
21052933830. 2
21052933831. 3

21052933832. 4

Question Number : 9 Question Id : 2105298615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: ICT based 'teaching support system' has the potential to optimize learning

outcomes

Statement |I: Recent research have reported that factors relating to social competence
contribute more to learning than mere cognitive intelligence does

In light of the above statements,choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement || are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true

Options:

21052933833. 1
21052933834. 2
21052933835. 3

21052933836. 4

Question Number : 9 Question Id : 2105298615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933833. 1



21052933834. 2
21052933835. 3

21052933836. 4

Question Number : 10 Question Id : 2105298616 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A university teacher proposes a research project on ‘why parents are apathetic to the
university programmes’. Which of the following research methods will be most appropriate for

the project?

1. Experimental method

2. Historical method

3. Participant-observation method
4. Ex post facto method

Options :

21052933837. 1
21052933838. 2
21052933839. 3

21052933840. 4

Question Number : 10 Question Id : 2105298616 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052933837. 1
21052933838. 2
21052933839. 3
21052933840. 4

Question Number : 11 Question Id : 2105298617 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which level of teaching there is optimum scope for cognitive interchange requiring analysis

and synthesis?

1. Memory level teaching

2. Understanding level teaching

3. Reflective level teaching

4. Autonomous development level teaching

Options :

21052933841. 1
21052933842. 2
21052933843. 3

21052933844. 4

Question Number : 11 Question Id : 2105298617 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052933841. 1



21052933842. 2
21052933843. 3

21052933844. 4

Question Number : 12 Question Id : 2105298618 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: Reliability is a necessary but insufficient condition for validity aspect of a research
tool

Statement Il: Validity is threatened when a test measures only the construct it is designed to
measure in a research

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct

Options :

21052933845. 1
21052933846. 2
21052933847. 3

21052933848. 4

Question Number : 12 Question Id : 2105298618 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052933845. 1
21052933846. 2
21052933847.3

21052933848. 4

Question Number : 13 Question Id : 2105298619 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the features of scientific method from the following list
A. Clearly defined variables and procedures

B. Empirically verifiable hypotheses

C. Little or no scope for self correction

D. Linguistic justification of conclusions

E. Ability to rule out rival hypotheses

Choose the correct answer from the options given below:

1. A B and E only
2. B, Cand D anly
3.C, D and E only
4. B, D and E only

Options :



21052933849. 1
21052933850. 2
21052933851. 3

21052933852. 4

Question Number : 13 Question Id : 2105298619 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933849. 1
21052933850. 2
21052933851. 3

21052933852. 4

Question Number : 14 Question Id : 2105298620 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the point of view of research ethics which of the following is least vulnerable in research?

1. Problem-formulation and identifying the variables involved
2. Data analysis and interpretation

3. Reporting of research result and their implications

4. Citing a theory in support of one’s thesis

Options :

21052933853. 1
21052933854. 2
21052933855. 3

21052933856. 4

Question Number : 14 Question Id : 2105298620 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933853. 1
21052933854. 2
21052933855. 3
21052933856. 4

Question Number : 15 Question Id : 2105298621 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sampling methods in research are non-probability based?
A. Cluster sampling method

B. Dimensional sampling method

C. Random sampling method

D. judgement sampling method

E. Snowball sampling method

Choose the correct answer from the options given below:

1. B, C and D only
2. A, B and C only
3. B, D and E only
4. C, D and E only

Options :

21052933857. 1
21052933858. 2
21052933859. 3

21052933860. 4

Question Number : 15 Question Id : 2105298621 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933857. 1
21052933858. 2
21052933859. 3

21052933860. 4

Question Number : 16 Question Id : 2105298622 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Communication stimuli used to convey the message are known as

1. Process
2. Power
3. Channel
4. Codes

Options :

21052933861. 1
21052933862. 2
21052933863. 3
21052933864 4



Question Number : 16 Question Id : 2105298622 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052933861. 1

21052933862. 2

21052933863. 3

21052933864. 4

Question Number : 17 Question Id : 2105298623 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Communication activities of learners fall into domains consisting of
A. Perception

B. Groupism

C. Inter-personal skills

D. Regressive behavior

E. Inter-perscnal relations

Choose the correct answer from the options given below:

1. A, B and C only
2. A, Cand E only
3. A, Cand D only
4. A Dand E only

Options :



21052933865. 1
21052933866. 2
21052933867. 3

21052933868. 4

Question Number : 17 Question Id : 2105298623 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933865. 1
21052933866. 2
21052933867. 3

21052933868. 4

Question Number : 18 Question Id : 2105298624 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: New media enhance the opportunities to expand the learning environment

unheard of before
Reason R: Learners can design their own |earning process

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options:

21052933869. 1
21052933870. 2
21052933871.3

21052933872. 4

Question Number : 18 Question Id : 2105298624 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933869. 1



21052933870. 2
21052933871. 3

21052933872. 4

Question Number : 19 Question Id : 2105298625 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The sequence of elements in linear model of communication is
A. Message

B. Decoder

C. Encoder

D. Medium

E. Noise

Choose the correct answer from the options given below

1.A CBED
2B D CAE
3.CADEB
4D ECAB

Options :

21052933873. 1
21052933874. 2
21052933875. 3

21052933876. 4

Question Number : 19 Question Id : 2105298625 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YU & R UfaHH & geh! Bl HH § -
A. Tom

p. faddra®

C. Ghdm

D. HTEH

E. TR

id feu e fadedf 6 © O8I SR

s
I

—:

1.A CBED
2B D CAE
3.CADEB
4D ECAB

Options :

21052933873. 1
21052933874. 2
21052933875. 3

21052933876. 4

Question Number : 20 Question Id : 2105298626 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List Il

List | List II
A. Poor listeners |. Scold others
B. Aggressive listeners II. Easily agree with the speaker

— Il Listen to ideas not understanding emotions
C. Positive listener

D. Pseudo-intellectual listeners ) ,
IV. Fidget compulsively

Choose the correct answer from the options given below:

T.A-1LB-1ILC-1ILD-IV
ZA-1L,B-1,C-1V,D-|
JA-ILB-IV,C-,D-1
4A-W,B-1LC-1ILD-1ll

Options:

21052933877. 1
21052933878. 2
21052933879. 3

21052933880. 4

Question Number : 20 Question Id : 2105298626 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gi-| &I gi-1 Y gferd Sifo -

Tl Tl

A. & ST | 3 B S &

B. 3THTH® Hidl I, ST T gad1 & 91y YeHd 6id &

c =y g I, HIGTTT TR 56 9 4 [9aR| &l gd g
D. BU AP 4l |Iv. TGN AP HaeR Uaidid & ol
o feu e faweal § O 981 I 9T

TLA-LB-ILC-II,D-IV
ZA-, B=LC- IV, D=1
3A-NILB-IV,C-1,D-1
4A-IVE-LC-1IL,D-1

Options :



21052933877. 1
21052933878. 2
21052933879. 3

21052933880. 4

Question Number : 21 Question Id : 2105298627 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A train is travelling at a speed of 96 kilometres per hour. It takes 3 seconds to enter a tunnel
and 30 seconds more to pass through it completely. Which of the following statements are
correct?

A. Length of the tunnel is 100 meters

B. Tunnel is longer than train

C. Train is longer than tunnel

D. Length of the train is 80 meters

E. Length of the tunnel in 800 meters

Choose the correct answer from the options given below:

1. A, Cand D only
2. A and B only
3. Cand D only
4. B, D and E only

Options :

21052933881. 1
21052933882. 2
21052933883. 3
21052933884. 4

Question Number : 21 Question Id : 2105298627 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

U YerTTe! U He 96 fovaitiiex @l 71 T Jeid! &1 98 U G371 & 7a% a3 | 3 YU oildl &
3R 39! Gl e UR 3 H 30 YahUs 3R ool o | Fufafad O O T oY Tel & 2

A. QT P! 7T 100 HeX B

B, & LeTIe] @) ol | e ol gl
C. TS G ¥ SHf¥yd il 81

D. TS @ daTg 80 Hiet 5

E. Q&1 @l daT3 800 HieX 5

i fer e faaedl & 4 98l S gL
1. Bad A, C HRD

2. Bad A 3R B

3. %qd C ¥R D
4 HaaB,D AR E

Options:

21052933881. 1
21052933882. 2
21052933883. 3
21052933884. 4

Question Number : 22 Question Id : 2105298628 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The difference between the ages of two men is 10 years. 15 years ago, the elder one was twice
as old as the younger one. The present age of the elder man is

1. 25 years
2. 35 years
3. 45 years
4. 40 years

Options :

21052933885. 1



21052933886. 2
21052933887. 3

21052933888. 4

Question Number : 22 Question Id : 2105298628 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

&l odfderdl @ 99 H 10 HIa BT 3Rk 21 15 91K Ygdl oUg adicd &1 35 dH8 § g 41 dl dadF

# Uy i B SH AT 2

12574

23594

3.45 Y
440 T8

Options :

21052933885. 1
21052933886. 2
21052933887. 3

21052933888. 4

Question Number : 23 Question Id : 2105298629 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List Il
For two numbers 84 and 96 Result
A HCF . 672
B. LCM 1. 8064
C. Product l. 180
0. Sum V.12

Choose the correct answer from the options given below:

TA-I,LB-IW,C-1ll,D-1
2ZA-,B-IV,C-1,D-1l
SA-ILB-IV,C-1,D-1I
4 A-IV,B-I,C-1,D- 1l

Options:

21052933889. 1
21052933890. 2
21052933891. 3

21052933892. 4

Question Number : 23 Question Id : 2105298629 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ol Gmralt 84 3R 96 & A0 TI1-1 @I G- H 58 e ooy 9 gafee #ifeu

g1 -1l

ATI T TE l. 672

B.UG HITH II. 8064
C. HGT 111, 180
D. T V.12

I feu v fadedf ¥ © g8l Iwr 9T

T.A-1,B-IV,C-1ll,D-1l
ZA-1,B-IW,C-1I,D-1l
3A-ILB-IV,C-1,D-1l
4 A-IV,B-1,C-1l,D-10

Options :



21052933889. 1
21052933890. 2
21052933891. 3

21052933892. 4

Question Number : 24 Question Id : 2105298630 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: A number is divisible by 25, if the number formed by its last twe digits is either
(00) or divisible by (25)
Statement II: A number is divisible by 16, if the number formed by its last 4 digits is divisible

by 16

In light of the above statements,choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

21052933893. 1
21052933894. 2
21052933895. 3
21052933896. 4

Question Number : 24 Question Id : 2105298630 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



aﬁ%aﬁ“mmﬁﬁw%‘:
Y- : TP T 25 GRI faune €, 9% 59 9% & Sifag &f 3@ (00) 71 (25) § Gur=a B

TYA-I| : TP T 16 GRI AU &, Il 39 T%1 & Sifdd IR 3@ gRI a4 9% 16 © [GyTe
gl

SUldd BYAl & e 4 Fgifdd fdeal d 9 98 W

1. YT | 3R 11 G Tel gl

2. B | 3R 1 GHT e &

3. BYA-1 9 &, foieg Y- T &
4, BY-| 39 &, o DYH-11 GBI B

Options:

21052933893. 1
21052933894. 2
21052933895. 3

21052933896. 4

Question Number : 25 Question Id : 2105298631 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il

A. Triangle Area . Base x hight

B. Square Area Il. 1/2 x (Product of diagonals)
C. Rhombus Area ll. 1/2 x Base x Height

D. Parallelogram Area V. (Side)?

Choose the correct answer from the options given below:

TLA-ILEB-IV,C-1,D-1
ZA-NLB-IV,C-Il,D-I
3.A-NILB-IV,C-1,D-1
4 A-1LB-ILC-LD-IV

Options :
21052933897. 1

21052933898. 2



21052933899. 3
21052933900. 4

Question Number : 25 Question Id : 2105298631 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tdl-| B Gail-Il § AR B -

g1 gl- 11

A, BIYS &1 8a%a | TR x Fdlg

B. 37 A I, 1/2 x (Gl @1 UHEa)
C. §HAqYA @1 aA%d 1. 1/2 x SR x Has

D. AFTER Iqys &1 &% V. {352

< fou e fgdedl § § 98l SR g

TLA-ILB-IV,C-1,D-1l
ZA-NILB-IV,C-1l,D-|
3A-ILB-IV,C-1,D-1
4A-ILB-IILC-I,D-1V

Options :

21052933897. 1
21052933898. 2
21052933899. 3

21052933900. 4

Question Number : 26 Question Id : 2105298632 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



All flowers are toys. Some toys are trees. Some butterflies are trees, then
A. No butterfly is flower

B. Some butterflies are toys

C. Some toys are flowers

D. Some trees are flowers

E. Some trees are butterflies

Choose the correct answer from the options given below:

1. A and B only
2. C and E only
3. B and E only
4. B and D only

Options :

21052933901. 1
21052933902. 2
21052933903. 3

21052933904. 4

Question Number : 26 Question Id : 2105298632 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



it qw e €1 oo fadiH 96 €1 o faafemi qare ot :
A B3 1 faach oo 72 81

B. $@ faafemi faaH B

C. 9% g g g

D. D% 34 JHU 5|

E. © g4 faaferdi g

il fau e fawedt & 9 9t Iw g

1. Had A 3R B
2. &ad C 3R E
3. HAAB IARE
4. HaABARD

Options :

21052933901. 1
21052933902. 2
21052933903. 3

21052933904. 4

Question Number : 27 Question Id : 2105298633 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"Wherever there is smoke, there is fire.

There is smoke in Mr Verma's chamber,

There must be fire in Mr Verma's chamber.”

In accordance with Indian logic, this is an example of

1. Pratyaksha pramana (Perception)
2. Upmana (Comparison)

3. Hetvabhasa (Fallacy)

4. Vlyapti (Invariable relations)

Options :



21052933905. 1
21052933906. 2
21052933907. 3

21052933908. 4

Question Number : 27 Question Id : 2105298633 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
" Jel del Yl g, del Al e

ot 901 & ®& F Y g
o1 391 & & H A gH Frfel ¢

HRATT T & 18R I8 Fyieied § § [$yd e & -

1. Ueda UHIUI
2. 309H
4, I

Options :

21052933905. 1
21052933906. 2
21052933907. 3

21052933908. 4

Question Number : 28 Question Id : 2105298634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In order to authenticate the environmental values as advocated by our ancestors, a scholar
cites examples from Vedas. The means of knowledge used by him/her in terms of Indian logic
will be called

1. Anumana (inference)

2. Arthapatti ( Implication)

3. Shabda (Verbal testimony)
4. Upamana (Comparison)

Options :

210529339009. 1
21052933910. 2
21052933911. 3
21052933912. 4

Question Number : 28 Question Id : 2105298634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

SR Udell GR1 U&IRd waiaRuliy gedi &1 U910 o+ & [ U e da) 9 JaTey 364d
Bl & | YR THURE D1 2P U 3G FRI TG F1H P FIEH DI 3] Bl ST

1. HFAA
2. Jpufufg
3. ey

4, SUH

Options :

210529339009. 1
21052933910. 2
21052933911.3

21052933912. 4

Question Number : 29 Question Id : 2105298635 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Inthe series B, D, H, J, N, P, ... What will come after P?

=

I.

b Pl
— = A

Options :

21052933913. 1
21052933914, 2
21052933915. 3
21052933916. 4

Question Number : 29 Question Id : 2105298635 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
$@AI B, D, H, J, N, P H P o Tg o1 AT 2

.U

o b
— =

Options :

21052933913. 1
21052933914. 2
21052933915. 3

21052933916. 4

Question Number : 30 Question Id : 2105298636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



If LIGHT is written as GILTH and FIGHT is written as GIFTH, then SIGHT will be written as

1. GISHT
2. GISTH
3. GSITH
4. GSIHT

Options :

21052933917. 1
21052933918. 2
21052933919. 3

21052933920. 4

Question Number : 30 Question Id : 2105298636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

qfe LIGHT I GILTH U § ol Wil € 3R FIGHT ®I GIFTH & ¥ H [ 91l 8 6l SIGHT
@ fg & o fora o

1. GISHT
2. GISTH
3. GSITH
4, GSIHT

Options :

21052933917. 1
21052933918. 2
21052933919. 3
21052933920. 4

Question Number : 31 Question Id : 2105298637 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



GUI stands for

1. Graphical Usage Interaction
2. Gaming User Interface

3. Graphical user Interface

4. Graphical User Interaction

Options :

21052933921. 1
21052933922. 2
21052933923. 3

21052933924. 4

Question Number : 31 Question Id : 2105298637 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Wgs DT RdOdd g

e

ANt TS §eXUaEH
 Afthehal Gol XY
. e d o $eITaRH

L0 o

Options :

21052933921. 1
21052933922. 2
21052933923.3
21052933924. 4

Question Number : 32 Question Id : 2105298638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Operating systems are hardware

Statement II: Algorithm is a step by step procedure to solve a problem

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4 Statement | is incorrect but Statement Il is true

Options :

21052933925. 1
21052933926. 2
21052933927.3
21052933928. 4

Question Number : 32 Question Id : 2105298638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
EICEAL IR R AR S

HYF-| : R ey gr8am 3|
Y-l : TETR 3l el 991 & 991U &1 9RU-5X-930 UG id o
Sudad HYHl & e | Fgiied [decdl § U 98l S 9

1. Y | AR 1| SHf Wl g1
2. @Y | 3R || GFl Tad &
3. BYA-1 9 B, food pYH-11 Tad 8
4 HYF-| AT 8, foog BYA-11 Gl B

Options :

21052933925. 1
21052933926. 2
21052933927.3

21052933928. 4



Question Number : 33 Question Id : 2105298639 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
Given below are two statements

Statement I: Compilers are software

Statement II: Touch screen monitors are input/output devices

In light of the above statements,choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true

Options :

21052933929. 1
21052933930. 2
21052933931. 3

21052933932. 4

Question Number : 33 Question Id : 2105298639 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :




21052933929. 1
21052933930. 2
21052933931. 3

21052933932. 4

Question Number : 34 Question Id : 2105298640 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il

A. Image . .doc

B. Video 1. .mp3
C. Audio 1. jpeg
D. Word processing V. .mpeg

Choose the correct answer from the options given below:

TA-1L,B-I,C-II,D-1V
ZA-NILB-IV,C-1l,D-|
A=, B=ILC-IV,D-|
4 A-1,B-IV.C-lILD-1

Options :

21052933933. 1
21052933934. 2
21052933935. 3

21052933936. 4

Question Number : 34 Question Id : 2105298640 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G- I Fai-1l & Yy Ao i :
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A. 3H9 131t
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C. 3ffsar . St g i
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T.A-1,B-I,LC-1,D-IV
ZA-ILB-IV,C-Il,D-1
3A-ILB-LC-IV,D-1
4 A-1,B-IV,C-1Il,D-1

Options:

21052933933. 1
21052933934. 2
21052933935. 3
21052933936. 4

Question Number : 35 Question Id : 2105298641 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il

A. Search engine I. www.gmail.com
B.Job openings Il www.amazon.in
C. E-mail 1. www.google.com
D. E-commerce V. www.naukri.com

Choose the correct answer from the options given below:

TL.A-N,B-IW,C-|,D-I
ZA-IV,B-IILC-1,D-1ll
3A-1L,B-1LC-1I,D-V
4 A-1LB-IILC-N,D-1V

Options :

21052933937.1



21052933938. 2
21052933939. 3

21052933940. 4

Question Number : 35 Question Id : 2105298641 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

dl-1 DI gdl-1l Y AR BIfeg :

gl -1

A Eﬁ%@ I. www.gmail.com

B. g AU Il www.amazon.in

L %—ﬁa l1l. www.google.com
D. 'ﬁf—ﬁﬂﬁ V. www.naukari.com

TA-I,B-IV,C-1,D-Il
ZA-IV,B-NILC-1,D-1
3A-1,B-1I,C-I,D-1V
4 A-1,B-NLC-1I,D-1V

Options :

21052933937. 1
21052933938. 2
21052933939. 3

21052933940. 4

Question Number : 36 Question Id : 2105298642 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries contributing to global CO; emission in decreasing
order from fossil fuel burning, cement manufacturing and gas flaring in the year 2014

A USA

B. EU-28

C. China

D. Russia

Choose the correct answer from the options given below

1.C,ABD
2ACBD
3.ABCD
4ACDB

Options :

21052933941. 1
21052933942. 2
21052933943.3

21052933944. 4

Question Number : 36 Question Id : 2105298642 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U 2014 H SIGTRA 549 & FeH, YHe & (i 3R 79 & Fediod giH & DRU dEd o, &
It H G % g1 G2 & Yed A Sl TgdH BIL;

A. G T SfHRET
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1.CAEBD
2ACED
3ABCD
4 ACDE



Options :

21052933941. 1
21052933942, 2
21052933943. 3
21052933944, 4

Question Number : 37 Question Id : 2105298643 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following are used as semiconductor materials to fabricate solar cells
A. Silicon (Si)

B. Tin oxide (SnO)

C. Cadmium Sulphide (CdS)

D. Gallium Arsenide (GaAs)

Choose the correct answer from the options given below:

1. A and C only
2. A and B only
3. B, Cand D only
4. A B CandD

Options:

21052933945. 1
21052933946. 2
21052933947.3

21052933948. 4

Question Number : 37 Question Id : 2105298643 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fofatea 4 @ ue 9 o & A E ddidser d vu A Suan e war g 2
A. Fafer®iA (si)

8. fe1 3{1a9133 (Sn0)

C. B Gapiss (CdS)
D. TICigH SIS S (GaAs)
- feu v famedl & © 9 IR gHU:

1.Paq A 3R C
2. Had A R B
3. HaaA B, C 3R D

4.A B, C3RD
Options :
21052933945, 1
21052933946. 2
21052933947. 3

21052933948. 4

Question Number : 38 Question Id : 2105298644 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a Sustainable Development Goal?

1. Gender equity

2. Climate action

3. Protection of Ozone layer
4. Life below water

Options :

21052933949. 1
21052933950. 2
21052933951. 3

21052933952. 4



Question Number : 38 Question Id : 2105298644 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933949. 1
21052933950. 2
21052933951. 3

21052933952. 4

Question Number : 39 Question Id : 2105298645 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List I

List | List 11

Pathogens in water Disease they cause
A. Virus I. Cholera

B. Bacteria Il Schistosomiasis
C. Protozoa lIl. Hepatitis

D. Helminths (Parasitic worm) IV. Dysentery

Choose the correct answer from the options given below:

TLA-LB-WLC-IV,D-1l
ZA-LB-IL,C-ILD-IV
ZA-ILB-LC-ILD-IV
4A-ILE-L,C-IV,D-1

Options :
21052933953. 1

21052933954. 2



21052933955. 3
21052933956. 4

Question Number : 39 Question Id : 2105298645 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T.A-LB-U,C-W,D-Il
2ZA-,B-U,C-I,D-IV
SA-IILB-L,C-ILD-IV
4 A-ILB-LC-IV,D-1l

Options :

21052933953. 1
21052933954. 2
21052933955. 3

21052933956. 4

Question Number : 40 Question Id : 2105298646 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are emitted from a coal-based thermal power plant?
A. Carbon monoxide

B. Ozone

C. Sulphur dioxide

D. Methane

E.Particulate matter

Choose the correct answer from the options given below:

1. A, B, Cand E only
2. A, C and E only
3. A, Band Conly
4 A C DandEonly

Options :

21052933957. 1
21052933958. 2
21052933959. 3

21052933960. 4

Question Number : 40 Question Id : 2105298646 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052933957. 1
21052933958. 2
21052933959. 3

21052933960. 4

Question Number : 41 Question Id : 2105298647 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: The three greatest challenges facing higher education in India, described by
FICCI (2012) are expansion, equity and excellence

Statement lI: While all three issues indicated in Statement | are inter-linked, equity to a large
extent is dependent on expansion and access

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement I is true



Options :

21052933961. 1
21052933962. 2
21052933963. 3
21052933964. 4

Question Number : 41 Question Id : 2105298647 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052933961. 1
21052933962. 2
21052933963. 3

21052933964. 4

Question Number : 42 Question Id : 2105298648 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are regulatory bodies within the Department of Higher Education in the
Ministry of Human Resource Development in the Central Government?

A. NUEPA

B. UGC

C. AICTE

D. DEC

E. ICSSR

Choose the correct answer from the options given below:

1. B, Cand D only
2. A B and Conly
3.C, D and E only
4. A Dand E only

Options :

21052933965. 1
21052933966. 2
21052933967. 3

21052933968. 4

Question Number : 42 Question Id : 2105298648 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fofifed # € oY g TaR & AHd 9O Ao Feg | 9= e & favm & 9w

e

s Fem e e

ATIZIUT

3. 7 off I

CUMR AT

D3I

E. 313 O 79 U9 3R

T few 7 fapedl 4 4 w8l IR gL

1.®aa 8, C AR D
2. BadA B IR C
3.%aaC D ARE
4. HaAA, D AR E

Options :

21052933965. 1
21052933966. 2
21052933967. 3

21052933968. 4

Question Number : 43 Question Id : 2105298649 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify from the following, features which describe most appropriately the Indian values
A. Emphasis on individual ambition

B. Emphasis on collectivism

C. Emphasis on social progress

D. Emphasis on social stability

E. Emphasis on unity in diversity

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3.C, D and E only
4.B, D and E only

Options :

210529339609. 1
21052933970. 2
21052933971.3
21052933972. 4

Question Number : 43 Question Id : 2105298649 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

210529339609. 1
21052933970. 2
21052933971.3

21052933972. 4

Question Number : 44 Question Id : 2105298650 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: The UGC in India has statutory responsibility for maintenance of quality and

coordination of institutions of higher education

Statement II: The NCTE being a regulatory body for teacher education in India comes under
the control of UGC

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement || are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true

Options:

21052933973. 1
21052933974. 2
21052933975. 3

21052933976. 4

Question Number : 44 Question Id : 2105298650 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933973. 1



21052933974. 2
21052933975. 3

21052933976. 4

Question Number : 45 Question Id : 2105298651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In university governance, who is the executive head?

1. The Chancellor

2. The Vice-Chancellor

3. The Registrar

4. The Education Secretary

Options :

21052933977. 1
21052933978. 2
21052933979. 3

21052933980. 4

Question Number : 45 Question Id : 2105298651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052933977. 1
21052933978. 2

21052933979. 3



21052933980. 4

Sub-Section Number : 3
Sub-Section Id : 210529332
Question Shuffling Allowed : Yes

Question Id : 2105298652 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the given passage carefully and answer the questions that follow

At the turn of the century, a dominant conception of the child as learner was that he was
cognitively an "empty organism" responding more or less randomly to stimulation, and
characteristically learning when specific responses were connected with specific stimuli
through the meditation of pleasure or pain. The organism itself, it was believed, would do
nothing to learn or think if it were not impelled to such activity by primary drives like hunger
or thirst or by externally applied motives like reward and punishment. Experimenters in the
laboratory were connecting correct responses of animals to puzzle boxes by giving or
withholding food and teachers in the classroom were connecting correct responses of children
to problem cards by giving or withholding approval.

In pointing to this aspect of the turn-of-the-century view of the leamner, | do not mean to
derogate the historic achievement of the connectionist formulation of learning. But the
essential point remains, a conception of the learner as an ideationally empty organism
associating discrete stimuli and responses through the operation of rewards and punishments
under the control of the teacher. Both the stimulus - what was supposed to be learned - and
the response - what was actually learned - were believed to be determined by the teacher.

It was no accident that the materials and methods of instruction and the form of the classroom
were teacher-centred. The teacher was necessarily placed in front of the classroom -
sometimes on a dais or platform - and the pupils in chairs rigidly fastened to the floor in
straight rows facing forward so they would not turn away from the only source of the learning
experience: the teacher. Given this contemporary vision of the learner, what could be a more
eminently practical and sensible image of the ideal learning environment? Indeed, there is a
letter by John Dewey dating from this period in which he complains that when he was trying to
equip his new school according to his different conception of child as learner, he was unable
to find any other kind of classroom furniture.

Sub questions



Question Number : 46 Question Id : 2105298653 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The early child was thought of as

1. Intelligent enough to know both pain and pleasure
2. Having no power of cognition

3. Not amenable to specific stimuli

4. Having motivational effect in a random way

Options :

21052933981. 1
21052933982. 2
21052933983. 3

21052933984. 4

Question Number : 47 Question Id : 2105298654 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The basic idea behind laboratory experiment was related to

1. Motivating the child with reward and punishment

2. Considering hunger and thirst as negligible in impact
3. Animals and children having the same drive

4. Teachers controlling children

Options :

21052933985. 1
21052933986. 2
21052933987. 3

21052933988. 4

Question Number : 48 Question Id : 2105298655 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The connectionist formula placed importance on

1. Withholding negative stimuli
2. Teacher-centric motivation
3. Search for specific responses
4. Domg experiments in laboratories

Options :

21052933989. 1
21052933990. 2
21052933991. 3

21052933992. 4

Question Number : 49 Question Id : 2105298656 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What was expected of pupils during those early days?

1. To create an ideal learning environment

2. To be in the forefront of the classroom

3. Be attentive towards classroom teaching

4. To place the teacher on the higher pedestal

Options :

21052933993. 1
21052933994, 2
21052933995. 3

21052933996. 4

Question Number : 50 Question Id : 2105298657 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What did John Dewey say of child learning?

1. Teacher as the only source of knowledge

2. The learner should be given incentives for learning
3. The existing educational environment was ideal

4. The focus should be on child as a learner

Options :

21052933997. 1
21052933998. 2
21052933999. 3

21052934000. 4

Question Id : 2105298652 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 2105298653 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:
21052933981. 1
21052933982. 2



21052933983. 3

21052933984. 4

Question Number : 47 Question Id : 2105298654 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. URp3HT 3R STei! GHl H GHH TSR $I U0 ST
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Options:

21052933985. 1
21052933986. 2
21052933987. 3

21052933988. 4

Question Number : 48 Question Id : 2105298655 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ysiarel 97 - [y Agd fearur 2

1. PRSP 35 UE Bl Al
2. FIero-di=d HHIRT]

3. Ta=I9 3fsparadi &l @ieH
4, TOFTRNCHT H FERT A1
Options :

21052933989. 1
21052933990. 2
21052933991. 3

21052933992. 4



Question Number : 49 Question Id : 2105298656 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933993. 1
21052933994. 2
21052933995. 3

21052933996. 4

Question Number : 50 Question Id : 2105298657 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052933997. 1
21052933998. 2
21052933999. 3

21052934000. 4



PART II Women Studies

Section Id : 210529106
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529333
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105298658 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following terms is used in the Psycho-analytical theory for the 'Symbolic
representation of male-centredness.’

1. Androcentrism
2. Phallocentrism
3. Gynocentrism
4. Androgynism

Options:

21052934001. 1
21052934002. 2
21052934003. 3

21052934004. 4



Question Number : 51 Question Id : 2105298658 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052934001. 1
21052934002. 2
21052934003. 3

21052934004. 4

Question Number : 52 Question Id : 2105298659 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following world conventions excluded women delegates just because they

were females. This led them to organize the Seneca falls convention.

1. Combahee River Convention
2. Temperance Convention

3. Anti-slavery Convention

4. Suffrage Convention

Options :

21052934005. 1
21052934006. 2
21052934007. 3
21052934008. 4

Question Number : 52 Question Id : 2105298659 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

21052934005. 1
21052934006. 2
21052934007. 3

21052934008. 4

Question Number : 53 Question Id : 2105298660 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year was the Transgender Persons (Protection of Rights) Act signed into a Law?

1. 2019
2. 2014
3. 2016
42017

Options :

210529340009. 1
21052934010. 2
21052934011.3
21052934012. 4

Question Number : 53 Question Id : 2105298660 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 2019
22014
3. 2016
4. 2017

Options :

210529340009. 1
21052934010. 2
21052934011. 3

21052934012. 4

Question Number : 54 Question Id : 2105298661 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who is the founder of ‘Navdanya’, which campaigns for biodiversity and speaks against
corporate control of foods and seeds?

1. Mania Mies

2. Viandana Shiva
3. Nailz Kabeer
4 Medha Patkar

Options:

21052934013. 1
21052934014. 2
21052934015. 3

21052934016. 4

Question Number : 54 Question Id : 2105298661 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934013. 1
21052934014. 2
21052934015. 3
21052934016. 4

Question Number : 55 Question Id : 2105298662 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who said, "persuade women to endeavour to acquire strength, both of mind and body, and to
convince them that the soft phrases, susceptibility of heart, delicacy of sentiment, and
refinement of taste, are almost synonymous with epithets of weakness."?

1. Mary Wollstonecraft

2. Elizabeth Wurtzel

3. Germaine Greer

4. Elizabeth Cady Stanton and Lucretia Mott

Options :

21052934017.1
21052934018. 2
21052934019. 3

21052934020. 4

Question Number : 55 Question Id : 2105298662 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934017.1
21052934018. 2
21052934019. 3

21052934020. 4

Question Number : 56 Question Id : 2105298663 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Among the following, which is NOT an ideology of feminism?

1. Identifying the existing social realities from the standpoint of women
2. Questioning the gender blindness of mainstream theories

3. Questioning the power of dominant classes

4. Promoting the dominant classes

Options :

21052934021. 1
21052934022. 2
21052934023. 3
21052934024. 4

Question Number : 56 Question Id : 2105298663 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934021.1
21052934022. 2
21052934023. 3

21052934024. 4

Question Number : 57 Question Id : 2105298664 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the National Committee which first emphasized the need to recognize women's
education as a major concern in education

1. Kothari Commission (1964-66)

2. Durgabai Deshmukh Commission (1958)
3. Bhaktavatsalam Commission (1964)

4, Mudaliar Commission (1952-53)

Options :

21052934025. 1
21052934026. 2
21052934027. 3

21052934028. 4

Question Number : 57 Question Id : 2105298664 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. PIORT AR (1964 - 66)
2. GiIaTS CRITE ST (1958)

3.Hﬁﬁa&ﬁ@qqﬂﬁFTu964
4, TEfCgR ST (1952 - 53)
Options :
21052934025. 1
21052934026. 2
21052934027. 3

21052934028. 4

Question Number : 58 Question Id : 2105298665 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following perspectives are used to study linguistic sexism?

1. Structural Feminist
2. Inter actionist

3. Functionalist

4, Liberal Feminist

Options :

21052934029. 1
21052934030. 2
21052934031.3

21052934032. 4

Question Number : 58 Question Id : 2105298665 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafaRaa 7 ¥ fog uitte &1 Suan YT fovark o« fo f[ear o & 2

1. REATES ARG
2, ja:Thamarc]

3. UEHde!

4, 3GR ARIAK]

Options :

210529340209. 1
21052934030. 2
21052934031. 3

21052934032. 4

Question Number : 59 Question Id : 2105298666 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

What are the five domains of Women Empowerment Iindex (WEI)?

1. Politics, Health, Education, Livelihood, Empowerment
2. Agency, Income, Leadership, Resources, Time

3. Health, Happiness, Education, Livelihood, Time

4. Health, Education, Politics, Income, Empowerment

Options :

21052934033. 1
21052934034. 2
21052934035. 3
21052934036. 4

Question Number : 59 Question Id : 2105298666 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934033. 1
21052934034. 2
21052934035. 3

21052934036. 4

Question Number : 60 Question Id : 2105298667 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

What is the dress code of Anganwadi workers?

1. Salwar Kurta
2. Blue Kurta
3. Pink Sari

4. Orange Dupatta
Options :
21052934037. 1
21052934038. 2
21052934039. 3

21052934040. 4

Question Number : 60 Question Id : 2105298667 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934037. 1
21052934038. 2
21052934039. 3

21052934040. 4

Question Number : 61 Question Id : 2105298668 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following methods are used in Research 'to develop theories from the

analysis of Research data"?

1. Quantitative method
2. Deductive method
3. Inductive method

4, Qualitative method

Options :

21052934041. 1
21052934042. 2
21052934043. 3

21052934044. 4

Question Number : 61 Question Id : 2105298668 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934041. 1
21052934042. 2
21052934043. 3

21052934044. 4

Question Number : 62 Question Id : 2105298669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The target group of children under the scheme "Integrated Child Protection” of the Ministry of
Women and Child Development are:

1. Adolescent girl children

2. Adolescent boys and girls

3. Sexually abused female children

4. Vulnerable children living in difficult circumstances

Options :

21052934045. 1
21052934046. 2
21052934047. 3
21052934048. 4

Question Number : 62 Question Id : 2105298669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934045. 1
21052934046. 2
21052934047. 3

21052934048. 4

Question Number : 63 Question Id : 2105298670 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following sampling methods are implied when it is suggested 'Select the units to
be cbserved on the basis of the researcher's own judgement’?

1. Random Sampling
2. Purposive Sampling
3. Quota Sampling

4. Cluster Sampling

Options :

21052934049. 1
21052934050. 2
21052934051. 3

21052934052. 4

Question Number : 63 Question Id : 2105298670 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934049. 1
21052934050. 2
21052934051. 3

21052934052. 4

Question Number : 64 Question Id : 2105298671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which countries have the highest ranks in the Gender-related Development Index?

1. European Countries

2. Asian Countries

3. Scandinavian Countries
4, African Countries

Options :

21052934053. 1
21052934054. 2
21052934055. 3
21052934056. 4

Question Number : 64 Question Id : 2105298671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e ddith famra gamis J o4 G2 BT Jwad & & ?

1. TS o=
2. 4f? qlg o

4, APIDH] G

Options :

21052934053. 1
21052934054. 2
21052934055. 3
21052934056. 4

Question Number : 65 Question Id : 2105298672 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following approaches 'Brings women into development as better mothers

and passive beneficiaries'?

1. The Efficiency approach
2. Welfare approach

3. Equity approach

4. Development approach

Options :

21052934057. 1
21052934058. 2
21052934059. 3

21052934060. 4

Question Number : 65 Question Id : 2105298672 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934057. 1
21052934058. 2
21052934059. 3

21052934060. 4

Question Number : 66 Question Id : 2105298673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following viewed?

'It is impossible for women to obtain genuine equal opportunity in a class society where the
wealth produced by the powerless many ends up in the hands of the powerful few":

1. Liberal feminists

2. Socialist feminists
3. Radical feminists
4, Marxist feminists

Options :

21052934061. 1
21052934062. 2
21052934063. 3

21052934064. 4

Question Number : 66 Question Id : 2105298673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934061. 1
21052934062. 2
21052934063. 3
21052934064. 4

Question Number : 67 Question Id : 2105298674 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which Article of the Indian Constitution provides for free and compulsory education for
children between 6-14 years?

1. Article 15 (4)
2. Article 21 (A)
3. Article 17

4, Article 25 (4)

Options :

21052934065. 1
21052934066. 2
21052934067. 3

21052934068. 4

Question Number : 67 Question Id : 2105298674 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934065. 1
21052934066. 2
21052934067. 3

21052934068. 4

Question Number : 68 Question Id : 2105298675 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the 'Health and Survival Parameter' of the World Economic forum’s, Glebal Gender Gap
Index (2019-20) India's ranking is

1. 112 out of 153 countries
2. 150 out of 153 countries
3. 130 out of 153 countries
4, 140 out of 153 countries

Options :

21052934069. 1
21052934070. 2
21052934071.3

21052934072. 4

Question Number : 68 Question Id : 2105298675 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934069. 1
21052934070. 2
21052934071. 3
21052934072. 4

Question Number : 69 Question Id : 2105298676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Name the transgender who was an elected member of Madhya Pradesh state Legislative
Assembly from 1998 to 2003?

1. Sabnam Mausi

2. Manabi Bandopadhya
3. Kallu Kinnar

4, Kamla Jaan

Options :

21052934073. 1
21052934074. 2
21052934075. 3

21052934076. 4

Question Number : 69 Question Id : 2105298676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934073. 1
21052934074. 2
21052934075. 3

21052934076. 4

Question Number : 70 Question Id : 2105298677 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Social Watch Gender Equity Index is based on the gap between women and men in the

following domains:

1. Education, Economy and Political Empowerment
2. Health, Happiness and Home

3. Agency, Livelihood, Political Empowerment

4. Time, Agency and Livelihcod

Options :

21052934077. 1
21052934078. 2
21052934079. 3

21052934080. 4

Question Number : 70 Question Id : 2105298677 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934077.1
21052934078. 2
21052934079. 3

21052934080. 4

Question Number : 71 Question Id : 2105298678 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which title is widely accepted as an alternative for non-binary people?

1. Ms.
2. Mz
3. Mx.
4. My.

Options :

21052934081. 1
21052934082. 2
21052934083. 3
21052934084. 4

Question Number : 71 Question Id : 2105298678 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Ms.
2. Mz
3. Mx.
4. My.

Options :

21052934081. 1
21052934082. 2
21052934083. 3

21052934084. 4

Question Number : 72 Question Id : 2105298679 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Among the following, who has pioneered the concept of 'Self-Help Groups and Micro Credit'?

1. Muhammad ul Haque
2. Muhammad Yunus

3. Ester Boserup

4, Ela Bhatt

Options :

21052934085. 1
21052934086. 2
21052934087. 3
21052934088. 4

Question Number : 72 Question Id : 2105298679 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934085. 1
21052934086. 2
21052934087. 3

21052934088. 4

Question Number : 73 Question Id : 2105298680 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following organizations launched a programme "Planet 50-50 by 2030: Step

it up for Gender Equality’

1. UNICEF

2. UNDP

3. UN women
4. DAWN

Options :

21052934089. 1
21052934090. 2
21052934091. 3

21052934092. 4

Question Number : 73 Question Id : 2105298680 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. UNICEF

2. UNDP

3. UN women
4. DAWN

Options :

21052934089. 1
21052934090. 2
21052934091. 3

21052934092. 4

Question Number : 74 Question Id : 2105298681 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Under Sustainable Development Goals, the Geal numbers 3, 4 and 5 are meant for

1. Good Health and Well being, Quality Education and Gender Equality
2. Good Health and Well being, Zero Hunger, No poverty

3. No poverty, Zere Hunger, Gender Equality

4. Gender Equality, Good Health and Well being, Zero Hunger

Options :

21052934093. 1
21052934094. 2
21052934095. 3
21052934096. 4

Question Number : 74 Question Id : 2105298681 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934093. 1
21052934094. 2
21052934095. 3

21052934096. 4

Question Number : 75 Question Id : 2105298682 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is more appropriate to the term used for people whose gender identity
matches the sex that they were assigned at birth?

1. Transgender
2. Bisexual

3. Hetrosexual
4. Cisgender

Options :

21052934097. 1
21052934098. 2
21052934099. 3
21052934100. 4

Question Number : 75 Question Id : 2105298682 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934097. 1
21052934098. 2
21052934099. 3

21052934100. 4

Question Number : 76 Question Id : 2105298683 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following programmes launched in 1988 to bridge the Gender Gap in Education
recognizes 'Education as the empowerment tool for women'?

1. Kasturba Gandhi Balika Vidyalayas
2. Sarva Shiksha Abhiyan

3. Mahila Samakhya Programme

4. UGC Women's Studies Programme

Options :

21052934101. 1
21052934102. 2
21052934103.3

21052934104. 4

Question Number : 76 Question Id : 2105298683 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934101.1
21052934102. 2
21052934103. 3

21052934104. 4

Question Number : 77 Question Id : 2105298684 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following publications is the first substantial and systematic feminist treatise?

1. The Subjection of Women

2. A Vindication of the Rights of Women
3. Second Sex

4. Feminine Mystigue

Options :

21052934105. 1
21052934106. 2
21052934107.3

21052934108. 4

Question Number : 77 Question Id : 2105298684 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934105. 1
21052934106. 2
21052934107. 3

21052934108. 4

Question Number : 78 Question Id : 2105298685 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following terms is appropriate to describe "The process by which males and
females are informed about the norms and behaviours associated with their sex"?

1. Ethnocentricism

2. Androgyny

3. Acculturation

4, Gender Socialization

Options :

21052934109. 1
21052934110. 2
21052934111. 3

21052934112. 4

Question Number : 78 Question Id : 2105298685 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafefed # 8 & 9 e o8 Ui & aR & e Suga © fags g geu! Sk e &
St Yo © Gaifiiq AFGUST SR 29deRT & & gfd foran i 3|

1. Welliddb el

2. IHTfe

4. o7 gATSieT

Options :

21052934109. 1
21052934110. 2
21052934111. 3

21052934112. 4

Question Number : 79 Question Id : 2105298686 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The first Indira Gandhi Award for International Justice and Harmony has been given to

1. Larry Pressler

2. Amensty International
3. Hussain lbrahim Zaki
4. Yasser Arafat

Options :

21052934113.1
21052934114. 2
21052934115.3

21052934116. 4

Question Number : 79 Question Id : 2105298686 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934113. 1
21052934114. 2
21052934115. 3
21052934116. 4

Question Number : 80 Question Id : 2105298687 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In western feminist movements, who among the following are known as The Abolitionist
Sisters'?

1. Susan B. Anthony and Mary Wollstenecraft
2. Sarah and Angelina Grimke

3. Charlotte Perkin and Susan B. Anthony

4. Lucy Stone and Angelina Grimke

Options :

21052934117.1
21052934118. 2
21052934119.3

21052934120. 4

Question Number : 80 Question Id : 2105298687 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934117. 1
21052934118. 2
21052934119. 3

21052934120. 4

Question Number : 81 Question Id : 2105298688 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Who wrote the book "Feminist Theory: From Margin to Centre"?

1. bell hocks

2. Marge Piercy
3. Iris Young

4. 1.S. Mill

Options :

21052934121.1
21052934122. 2
21052934123.3

21052934124. 4

Question Number : 81 Question Id : 2105298688 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934121.1

21052934122. 2

21052934123. 3

21052934124. 4

Question Number : 82 Question Id : 2105298689 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following maternity benefits programme was implemented from 2017 in
accordance with the provision of the National Food Security Act of 20137

1. National Health Mission

2. Indira Gandhi Matritva Sahyog Yojana
3. Pradhan Mantri Matru Vandana Yojana
4. National Nutrition Programme

Options :

21052934125. 1
21052934126. 2
21052934127. 3
21052934128. 4

Question Number : 82 Question Id : 2105298689 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934125.1
21052934126. 2
21052934127. 3

21052934128. 4

Question Number : 83 Question Id : 2105298690 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who is the author of the article titled "Dalit Women Talk Differently”?

1. Gopal Guru

2. Sharmila Rege
3. Kancha lllaiah
4. Urmila Pawar

Options :

21052934129. 1
21052934130. 2
21052934131.3
21052934132. 4

Question Number : 83 Question Id : 2105298690 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934129. 1
21052934130. 2
21052934131.3

21052934132. 4

Question Number : 84 Question Id : 2105298691 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the Sexual Harassment of Women at Workplace (Prevention, Prohibition and Redressal) Act
2013, the "aggrieved woman" means

1. A woman of any age employed in the public sector to have been subjected to any act of
sexual harassment by the other person

2. A woman of any age employed who alleges to have been subjected to any act of sexual
harassment by the other person

3. A woman of any age employed in the corporate sector to have been subjected to any act of
sexual harassment by the other person

4. An employed woman in the private sector who alleges to have been subjected to any act of
sexual harassment by the other person

Options :

21052934133. 1
21052934134. 2
21052934135. 3
21052934136. 4

Question Number : 84 Question Id : 2105298691 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :

21052934133.1
21052934134. 2
21052934135. 3

21052934136. 4

Question Number : 85 Question Id : 2105298692 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT associated with Qualitative data?

1. Qualitative data consists of words

2. All Qualitative data can be coded quantitatively

3. Qualitative data are always collected under controlled conditions and through a deductive
process

4. Apart from logical generalizations, macro generalization can not be based on Qualitative
data

Options :

21052934137. 1
21052934138. 2
21052934139. 3

21052934140. 4

Question Number : 85 Question Id : 2105298692 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934137. 1
21052934138. 2
21052934139. 3

21052934140. 4

Question Number : 86 Question Id : 2105298693 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Thirty per cent of funds/benefits earmarked in all women related sectors is the strategy of

1. 73" Amendment

2. Woman Development Plan

3. National Policy on Empowerment of Women
4, Women's Compenent Plan

Options :

21052934141. 1
21052934142. 2
21052934143.3
21052934144. 4

Question Number : 86 Question Id : 2105298693 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :

21052934141.1
21052934142. 2
21052934143. 3

21052934144. 4

Question Number : 87 Question Id : 2105298694 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"A Dalit woman garment worker, who is persistently being paid a low salary and vulnerable to
the sexual abuse of the male managers”

Which one of the following feminist theories can best explain her position?

1. Marxist Feminism

2. Socialist Feminism

3. Feminist Intersectionality
4 Dalit Feminism

Options :

21052934145. 1
21052934146. 2
21052934147. 3

21052934148. 4

Question Number : 87 Question Id : 2105298694 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934145. 1
21052934146. 2
21052934147. 3
21052934148. 4

Question Number : 88 Question Id : 2105298695 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to Maternity Benefit (Amendment) Act 2017, what is the maternity leave available

for women employees?

1. 26 weeks
2. 28 weeks
3. 12 weeks
4. 14 weeks

Options :

21052934149. 1
21052934150. 2
21052934151.3

21052934152. 4

Question Number : 88 Question Id : 2105298695 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934149. 1
21052934150. 2
21052934151. 3
21052934152. 4

Question Number : 89 Question Id : 2105298696 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Among the following Feminists, who believed in "plurality, multiplicity and differences"?

1. Existentialist

2. Post Modernist
3. Radicals

4, Liberals

Options :

21052934153. 1
21052934154. 2
21052934155. 3
21052934156. 4

Question Number : 89 Question Id : 2105298696 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934153.1
21052934154. 2
21052934155. 3

21052934156. 4

Question Number : 90 Question Id : 2105298697 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following suggests that sexuality is constituted of different kinds of ideas,
values and representations, which can change with time and place?

1. Paola Bacchetta

2. Kalpana Kannabiran
3. Nivedita Menon

4, Tanika Sarkar

Options :

21052934157.1
21052934158. 2
21052934159. 3

21052934160. 4

Question Number : 90 Question Id : 2105298697 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934157. 1
21052934158. 2
21052934159. 3

21052934160. 4

Question Number : 91 Question Id : 2105298698 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Shah Bano case is related to a Muslim wife's

1. Right to divorce

2. Right to separation

3. Right to maintenance after divorce
4. Right to husband's property

Options :

21052934161. 1
21052934162. 2
21052934163.3
21052934164. 4

Question Number : 91 Question Id : 2105298698 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934161. 1
21052934162. 2
21052934163. 3

21052934164. 4

Question Number : 92 Question Id : 2105298699 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is Juliet Mitchell's perspective on the Dual System theory?

1. A non-materialist account of Patriarchy and a materialist account of Capitalism

2. A materialist account of Patriarchy and a materialist account of Capitalism

3. A materialist account of Patriarchy and a non-materialist account of Capitalism

4. A non-materialist account of Patriarchy and a non-materialist account of Capitalism

Options :

21052934165. 1
21052934166. 2
21052934167.3

21052934168. 4

Question Number : 92 Question Id : 2105298699 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934165. 1
21052934166. 2
21052934167. 3

21052934168. 4

Question Number : 93 Question Id : 2105298700 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

In India, the concept of "Women and Development” was first introduced during

1. Third Five Year Plan (1961-66)
2. Fifth Five Year Plan (1974-79)
3. Sixth Five Year Plan (1980-85)
4, Seventh Five Year Plan (1985-20)

Options :

21052934169. 1
21052934170. 2
21052934171. 3

21052934172. 4

Question Number : 93 Question Id : 2105298700 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934169. 1
21052934170. 2
21052934171.3

21052934172. 4

Question Number : 94 Question Id : 2105298701 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gender-needs concept was introduced by

1. Ester Boserup

2. Caroline Moser

3. Sreelatha Batliwala
4. Naila Kabir

Options :

21052934173.1
21052934174. 2
21052934175. 3
21052934176. 4

Question Number : 94 Question Id : 2105298701 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934173. 1
21052934174. 2
21052934175. 3

21052934176. 4

Question Number : 95 Question Id : 2105298702 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is true of the new Adultery law in India after the Supreme Court Judgement on 27th Sept
20187

1. Adultery law does not recognise women's agency and treats husband as the master
2. Extra-marital sex is a criminal offence in India

3. The law prescribes a maximum imprisonment of five years to men for adultery

4. The offence is a valid ground for divorce

Options :

21052934177.1
21052934178. 2
21052934179.3

21052934180. 4

Question Number : 95 Question Id : 2105298702 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934177. 1
21052934178. 2
21052934179.3
21052934180. 4

Question Number : 96 Question Id : 2105298703 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the schemes that are under the umbrella - Integrated Child Development Schemes
(ICDS)

A. National Creche Scheme

B. Poshan Abhiyaan

C. Pradhan Mantri Matru Vandana Scheme

D. Swadhar

Choose the correct answer from the options given below:

1. A, Cand D only
2. A Band D only
3.A Band Conly
4. B, Cand D only

Options :

21052934181. 1
21052934182. 2
21052934183.3

21052934184. 4



Question Number : 96 Question Id : 2105298703 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934181. 1
21052934182. 2
21052934183. 3

21052934184. 4

Question Number : 97 Question Id : 2105298704 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the requirements for a film to pass the Bechdel Test?

A. Two women must be named characters rather than generic

B. Two women who talk to each other about something other than a man
C. Male characters portrayed as being masculine

D. Portrayal of gentle male characters

Choose the correct answer from the options given below:

1. A and D only
2. Cand D only
3. A and B only
4. A and C only

Options:

21052934185. 1
21052934186. 2
21052934187.3

21052934188. 4

Question Number : 97 Question Id : 2105298704 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :




21052934185. 1
21052934186. 2
21052934187. 3

21052934188. 4

Question Number : 98 Question Id : 2105298705 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are NOT characterizations of the feminization of poverty?
A. Demographic differences between men and women

B. Deprivation from accessing resources like land and credit

C. Women's work is not creative

D. Vulnerability to violence and overwork

Choose the correct answer from the options given below:

1. A and C only

2. B, Cand D anly
3. A B, and D only
4. Aonly

Options :

21052934189. 1
21052934190. 2
21052934191.3
21052934192. 4

Question Number : 98 Question Id : 2105298705 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934189. 1
21052934190. 2
21052934191. 3

21052934192. 4

Question Number : 99 Question Id : 2105298706 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Among the following Reformers, who was the founder of "Ladies Theosophical Society”?

1. Swarna Kumari Devi
2. Annie Besant

3. Sarojini Naidu

4, Aruna Asaf Ali

Options :

21052934193. 1
21052934194. 2
21052934195. 3

21052934196. 4



Question Number : 99 Question Id : 2105298706 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934193. 1

21052934194. 2

21052934195. 3

21052934196. 4

Question Number : 100 Question Id : 2105298707 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are the components of "The Global Hunger Index"?
A. The proportion of children under the age of five suffering from ‘wasting'
B. The proportion of children under the age of five suffering from ‘stunting’

C. The mortality rate of children under the age of five

D. The percentage of undernourished women during pregnancy

Choose the correct answer from the options given below:

1. A, B, Cand D only
2. A, Band C only

3. B and C only

4. A Cand D only

Options :
21052934197. 1
21052934198. 2



21052934199. 3
21052934200. 4

Question Number : 100 Question Id : 2105298707 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. B4dd A, B, C, D
2. HddA, B, C
3. $HdAB, C

4. HgdA, C, D

Options :

21052934197. 1
21052934198. 2
21052934199. 3

21052934200. 4

Question Number : 101 Question Id : 2105298708 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who were the crossdressers in Parsi Theatre?

A. Binodini Dasi

B. Jaishankar Sundari

C. Master Fida Husain

D. Gulab Bai

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. B and D only

Options :

21052934201. 1
21052934202. 2
21052934203. 3
21052934204. 4

Question Number : 101 Question Id : 2105298708 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :



21052934201.1
21052934202. 2
21052934203. 3

21052934204. 4

Question Number : 102 Question Id : 2105298709 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are the characteristics of Social movements?

A. Collective attempts to promote or resist change

B. Generally fluid groups of people working towards a common goal

C. The movements draw strength from many highly organized organizations or interest groups
D. Generally, have women leaders

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A Band Conly
4. A and D only

Options :

21052934205. 1
21052934206. 2
21052934207. 3
21052934208. 4

Question Number : 102 Question Id : 2105298709 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fafeRed H © @i aHio® el & [RIva & ;

A. GRGdH @ Uiclifed &3+ 91 39 UfeRle & IrHfes uar|

B. G-I Tfad & HATEd Tl (NS T) BN Ud 9IS S5=0 & G2 8 &Y S|
C. T8 HiGIeH 3D Hdid Tiied W6+ a1 6 95 Y 2idd U &<l o

D. HAG: T Algal Adl Bl &

- feu e fameal 7 ¥ 98 Sw g

1. BAA A, B
2. $aaB, C
3. BaAA, B, C
4. BAAA, D

Options :

21052934205. 1
21052934206. 2
21052934207. 3
21052934208. 4

Question Number : 103 Question Id : 2105298710 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following services are provided under a ‘one-stop centre'?
A. Medical Assistance

B. Psycho-Social Counselling

C. Permanent Shelter

D. Legal Aid Counselling

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D anly
3. A BandD only
4. B and D only

Options :



21052934209. 1
21052934210. 2
21052934211. 3

21052934212. 4

Question Number : 103 Question Id : 2105298710 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFafaied o 9 o 9 991t 59 ¥19 G & 3fdiid UaH 31 ol 3 ;
A. Fefdritg e

B. TGS W

C. T 319G

D, fafte Yerd gumR

rd feu 7e faeedl J 9 981 IR 9 ;

1. PAAA, B, C
2. Hdda B, C, D
3. HadA, B, D
4,%aa B, D

Options :

21052934209. 1
21052934210. 2
21052934211. 3
21052934212. 4

Question Number : 104 Question Id : 2105298711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following procedures are from the Protection of Children From Sexual Offences
Act?

A. Child may be detained in the police station in the night

B. Police officer should not be in uniform while recording the statement of the child
C. The statement of the child is to be recorded as spoken by the child

D. Recording of the statement of the child has to be in the police station only
Choose the correct answer from the options given below:

1. A B and C only
2. B and C only
3.Cand D only
4. A and B only

Options:

21052934213. 1
21052934214. 2
21052934215. 3
21052934216. 4

Question Number : 104 Question Id : 2105298711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frafeiad 7 9 ol ufeha e U=l 3 Sras! & SRE HUHTH P aR H I ¢ 2
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D. 90 Uferg ¥ H a1@ &l §9H Gol B3I
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1.BaA A, B3R C
2. Haa B, C
3.%9dC D
4, HaAA, B



Options :

21052934213. 1
21052934214. 2
21052934215. 3

21052934216. 4

Question Number : 105 Question Id : 2105298712 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The major contributors to post neonatal deaths are:

A. Malnutrition

B. Infectious diseases

C. Problems with an unhygienic home environment

D. Postpartum Haemorrhage

Choose the correct answer from the options given below:

1. A, B, Cand D only
2. B and C only

3. Cand D only

4. A B and Conly

Options:

21052934217. 1
21052934218. 2
21052934219.3

21052934220. 4

Question Number : 105 Question Id : 2105298712 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Foffea % 9 &1 3 uwa - uyd Al  9ReH o3 § -
A. DU

B. THTH® TAT

C. a3 U dIaiarul ¥ Yafdd gas

D. Ui g1ed gaidl

il fau e fawedt & 9 9t Iw g

1. BadAA, B, C, D
2. HaAB AR C
3. HAAC IR D
4. HATAA, B, C

Options :

21052934217. 1
21052934218. 2
21052934219. 3

21052934220. 4

Question Number : 106 Question Id : 2105298713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are the objectives of ‘Beti Bachao Beti Padhao’ programme?
A. Prevention of child trafficking

B. Prevention of gender-based sex-selective abortion

C. Ensuring the survival and protection of the girl child

D. Ensuring education and participation of the girl child

Choose the correct answer from the options given below:

1. A, B and C only

2. A, B, Cand D only
3. A and D only

4. B, Cand D only

Options :



21052934221.1
21052934222. 2
21052934223. 3

21052934224. 4

Question Number : 106 Question Id : 2105298713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fofafaa o 4 oY 9 S8l 9] Gere FHFHH $ as7 © -

A. II® AR HaRu

B. SIS - TR T 9g-Te® U

C. SIfTeT 1 Frieiiiaal 3R S0 GRIGT ST
D, FIfcTep] B fRI&M 3R HETERT GRiET &1
fFrafeRad faeedl 9 9 gaifde Iuged 30 ghg:

1. PAAA, B, C
2. HadA, B, C, D
3. HadaA, D
4,%9AB,C D

Options :

21052934221. 1
21052934222. 2
21052934223.3

21052934224. 4

Question Number : 107 Question Id : 2105298714 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the traits of a Successful Entrepreneur?
A. Innovative spirit

B. Dynamic-adaptable to fast change

C. Self critical

D. Egoistic

Choose the correct answer from the options given below:

1. A, B, Cand D only
2. A, C and D only

3. Cand D only

4. A B and Conly

Options :

21052934225. 1
21052934226. 2
21052934227.3

21052934228. 4

Question Number : 107 Question Id : 2105298714 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ffeiad § 9 ®H 4 9w 3T & U 6 :
A. TEERT HiaT

p. g URadH o Ui TTia=iie - srga-eia
C. HEE®

D. 3fedlal

2 feu e fawedl § O 981 I 9T

1. $aAA, B, C, D
2. HIAA, C D
3. Haac D

4, FTAA, B, C

Options :



21052934225. 1
21052934226. 2
21052934227. 3

21052934228. 4

Question Number : 108 Question Id : 2105298715 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are the agencies imparting training to rural women?
A. Central Board of Social Welfare

B. State Board of Social Welfare

C. Krishi Vigyan Kendra

D. Mahila Mandals

Choose the correct answer from the options given below:

1. C and D only
2. A and B only
3. A BandD only
4 A B CandD

Options :

21052934229. 1
21052934230. 2
21052934231.3

21052934232. 4

Question Number : 108 Question Id : 2105298715 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



frafefaa & 4 g afeast @f ufiam &7 arch oikE oH-9 82
A. BT GHIS Dl 918

p. Y59 THIS Bedll ais

C. Y fag= og

D. Afgal Hsd

- feu 1Y famedl & 9 9l IR gHU:

1. $3a C 3R D
2, Pad A 3T B
3. Pad A, B IR D

4 A B C3RD

Options :

21052934229. 1
21052934230. 2
21052934231.3

21052934232. 4

Question Number : 109 Question Id : 2105298716 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gender is understood as:

A. Socially learned behaviour

B. Social expectations from men and women

C. Women's issues

D. Varying across the werld

Choose the correct answer from the options given below:

1. A B and C only
2. A, Band D only
3. A Cand D only
4. B, Cand D only

Options :



21052934233. 1
21052934234. 2
21052934235. 3

21052934236. 4

Question Number : 109 Question Id : 2105298716 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

el Bl TPy U g A B

A. GHINS Y Y YRal 771 SHd8R

B. G| R Afgdrsi ¥ gHise U=

C. Hfgarsl J 9=iEd g8

D. Ay R & fGfis =y

i f&u 7 faseyl 9 9 Wel faded gHT:

1.A B3R C
2.AB3IRD
3.A C3HRD
48 C3RD

Options :

21052934233. 1
21052934234. 2
21052934235. 3
21052934236. 4

Question Number : 110 Question Id : 2105298717 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What constitutes invisible work done by women?

A. Productive work

B. Reproductive work

C. Care work

D. Community work

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, B and D only
4. A Cand D only

Options :

21052934237. 1
21052934238. 2
21052934239. 3

21052934240. 4

Question Number : 110 Question Id : 2105298717 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frafafad o 9 afearst grT fod 10 U8 o1H-8 &1 ¢ off fe@Ts 7ol 4d?
A. IdTCgiedl drd

B. ol B

C. GEHIT et Brl

D. UG B

Fid feu e fawedl § 9 U8 IR g

1. PAAA, B, C
2. Hdda B, C, D
3. HadA, B, D
4FFAA C D

Options :



21052934237. 1
21052934238. 2
21052934239. 3

21052934240. 4

Question Number : 111 Question Id : 2105298718 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The 'Disposable Woman' trope refers to a trope in which a woman is

1. Not included in the narrative

2. Included for the sole purpose of dying

3. Included only for song and dance sequence
4. Included in the narrative but has no voice

Options :

21052934241. 1
21052934242, 2
21052934243.3

21052934244. 4

Question Number : 111 Question Id : 2105298718 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Teauicied g8 U U UY &9 Yeliid odl 8, forad afgd o -
1. A § Gifd el [l wiidl o

2. ad §g & WdieH I gfAfd faar siare|

3. Saa 11id 3R A & $HH | G faar 9 gl

4. 3T | Qi fdear oran 8, dfde omars el gl o

Options:

21052934241.1

21052934242. 2



21052934243. 3

21052934244. 4

Question Number : 112 Question Id : 2105298719 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following believe that women's liberation can not be achieved without a
simultaneous struggle for the preservation and liberation of all life on this planet from a
dominant patriarchal capitalist worldview?

A. Kamla Bhasin

B. Flavia Agnes

C. Maria Mies

D. Vandana Shiva

Choose the correct answer from the options given below:

1. Aand B only
2.B and C only
3.Cand D only
4. Aand D only

Options :

21052934245 1
21052934246. 2
21052934247.3

21052934248. 4

Question Number : 112 Question Id : 2105298719 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fafeiad 4 9 A1 711 16 ved lUgemie® Usiare! fay ERoit & oHER 38 Ud |
Gl o Sifa o GR&01 Td WoAdl & (010 U T Guy o (61 Afgenaf @1 Woddl Wl 45 o ol
godl?

A. THTT HEH

B. TRifal g

C. Hiiar 94

D. G T

T4 feT e fa@eul # © 98 TR gL :

1. ®aq A AR B
2. BaAB AR C
3.%aa C AR D
4. BIAAIRD

Options :

21052934245, 1
21052934246. 2
21052934247.3

21052934248. 4

Question Number : 113 Question Id : 2105298720 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are correct about WID Approach?

A. Integrate women into the existing structure

B. Focus on Gender relations

C. Focus mainly on women in isolation

D. Criticized the exclusion of women from the development process
Choose the correct answer from the options given below:

1.A,B,Cand D
2. A, Cand D only
3. B, Cand D only
4. B and D only



Options :

21052934249. 1
21052934250. 2
21052934251. 3

21052934252. 4

Question Number : 113 Question Id : 2105298720 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Foffad §9 $HY Secg,3s. L IUFH G IR T Tal & -

A. Agerel B [GeHH W= H Udied Bl

B. SieY e el UT & Bbigd del

C. J&Hd: UbTdh! wiia- arcil Higaiall U 1 hivgd BT

p. fa®Tg ufesar © Afgarsit & S/gdei @f SaE- &1 T

i feu e famedl 5 § 98l IR gHY

1. BadAA, B, C, D
2. ®BdAA, C D
3. ®aAB, C, D
4. HaAB, D

Options:

21052934249. 1
21052934250. 2
21052934251.3

21052934252. 4

Question Number : 114 Question Id : 2105298721 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

List I List II

(Scholars) (Writings)

A. Judith Butler |. Can the Subaltern Speak

B. Gayatri Spivak Il. Gender Trouble: Feminism and The Subversion of Identity
C. Michel Foucault |Il. Is @ History of Women Possible?

D. Michelle Perrot V. History of Sexuality

Choose the correct answer from the options given below:

TA-ILB-ILC-L,D-IV
2A-1LB-1,C-1I,D-IV
3A-ILB-LC-IV,D-1
4 A-IV,B-IIILC-1l,D-1

Options :

21052934253. 1
21052934254, 2
21052934255. 3
21052934256. 4

Question Number : 114 Question Id : 2105298721 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tl -1 I Gl -1l G GHITd DIt ;

gl -| T -1l
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A JfeY §eeR || A & Faadlced Wid

B. G [AUad |11 =S ad : A U8 & Yaduid 3i1h 3gac
c. T Bal |59 ¢ RE HI® difd Uifed

D.FRE W |iv. B o daguferd

i feu T fasegl © O Ol SR g

TA-1,B-H,C-Mll, D-IV
ZA-ILB-LC-Ill, D-IV
3A-ILB-LC-1IV, D-1I
4 A-IV,B-I,C-1l, D-1

Options :



21052934253. 1
21052934254. 2
21052934255. 3

21052934256. 4

Question Number : 115 Question Id : 2105298722 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List II

(Books) (Authors)

A. A Room of One's Own . Dale Spender

B. Public Man Private Women  |ll. Virginia Woolf

C. Man-Made Language lll. Simone De Beauvoir
D. Second Sex IV, J.B. Elshtain

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-IV
ZA-ILB-LC-IILD- IV
3A-ILB-V,C-Il,0-1
4 A-ILB-IV,C-1,D-1lI

Options :

21052934257. 1
21052934258. 2
21052934259. 3

21052934260. 4

Question Number : 115 Question Id : 2105298722 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 D gl -1 § gferd s ;
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CESED) (CED)

A UEH 3B g1 3{H . S0 WS

B. Ufstias B yrgde diae 1. i1 ged
C. B9 48 oiad . EEH & 991
D. Yb7s T& V. of &1 Terred
i fou e fasegl © O Ol IR g

TA-1,B-HU,C-lll, D-IV
ZA-ILB-LC-IIl, D-IV
FA-ILB-NEC-1L D=
4 A-ILB-IM,C-1, D-1I

Options:

21052934257. 1
21052934258. 2
21052934259. 3

21052934260. 4

Question Number : 116 Question Id : 2105298723 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List | List 1l
(Dance forms) (States)
A. Giddha I. Odisha
B. Garba Il. Assam
C. Gotipua lIl. Gujarat
D. Bagurumba V. Punjab

Choose the correct answer from the options given below:

TA-ILB-ULC-IV,D-I|
2ZA-IV,B-ILC-1,D-1
SA-ILB-ILC-IILD- IV
4 A-IILB-LC-1L,D- IV

Options :



21052934261. 1
21052934262. 2
21052934263. 3

21052934264. 4

Question Number : 116 Question Id : 2105298723 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Yl -1 B G -1l Y GHIE B ;

Tl -| Tt -li
e @)

A g . 3ifsam
B. TR 1. SIHH
C. Mg 1. AR
D. ] v, dolTd

=T feu U fadedl § ¥ el 3 9T :

1.A-I,B-H,C-IV, D-1
2A-IV,B-II,C-1, D-1I
3A-1,B-1,C-1l, D-IV
4 A-1ILB-1,C-1l, D-IV

Options :

21052934261. 1
21052934262. 2
21052934263. 3

21052934264. 4

Question Number : 117 Question Id : 2105298724 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List I
(Queer Organisation) (States)

A. Harmless Hugs I. Kolkata

B. Good as You II. Kochi

C. Sappho for Equality l1l. Delhi

D. Queerala V. Bangalore

Choose the correct answer from the options given below:

TA-ILB-U,C-IV,D-Il
2ZA-ILB-LC-IILD-IV
SA-IILB-V,C-1,D-1I
4 A-IV,B-IILC-1I,D -1

Options:

21052934265. 1
21052934266. 2
21052934267. 3

21052934268. 4

Question Number : 117 Question Id : 2105298724 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tl -1 I Gl -1l G GHITd DIt ;

gl -| -l
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A BHOH B I Picddl
B.AS W g Il Dl
C. 91 BR i 1. feeedt
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TA-1,B-H,C-1V, D-II
ZA-ILB-LC-Ill, D-IV
JA-IILB-M,C-1, D-Il
4 A-IV,B-I,C-1l, D-1

Options :



21052934265. 1
21052934266. 2
21052934267. 3

21052934268. 4

Question Number : 118 Question Id : 2105298725 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List I
(Research) :
(Explanation)
A. Exploration |. Attempt to find whether a particular phenomenon exists or not
B. Description II. Attempt to elaborate a phenomenon mare carefully
C. Prediction lll. Using research to solve a social problem
, IV. Examine the relationship between two or more variables and
D. Action
able to make guesses

Choose the correct answer from the options given below:

T.A-LB-ILC-ILD-V
2ZA-LB-LC-IV,D-l
JA-LB-ILC-IV,D-1l

4 A-IVB-ILC-1LD-1
Options :
21052934269. 1
21052934270. 2
21052934271.3

21052934272. 4

Question Number : 118 Question Id : 2105298725 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-1,B-HU,C-lll, D-IV
2ZA-ILB-LC-1V, D-1I
JA-ILB-ILC-IV, D-1l
4 A-IV,B-ILC-1ll, D-1

Options :

21052934269. 1
21052934270. 2
21052934271.3

21052934272. 4

Question Number : 119 Question Id : 2105298726 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List 11

Writing Author

A. The Truth About Me: A Hijra Life Story|l. P. Raja Rao

B. Kuri Aruthean (Phallus, | cut) Il. Manju Kapur

C. The Boyfriend Il. Kalki Subramaniam
D. A Married Woman V. A. Revathi

Choose the correct answer from the options given below:

1TA-I,LB-IW,C-I,D-1l
ZA-ILB-IV,C-1Il,D-|
3A-IV,B-ILC-1,D-1
4 A-IILB-LC-1ILD- IV

Options:

21052934273. 1
21052934274. 2
21052934275. 3
21052934276. 4

Question Number : 119 Question Id : 2105298726 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tl -1 I Gl -1l G GHITd DIt ;

gl -| -l

A. T TY €3 i : T RIS At BRI 1. UT. I v

B. B3I HEYUA (o, | ©e) . H9 Y

C. G il 111, ST EHoaq
D. T ARS giF IV. T gl

T1d feu e fasedl © T TEl SR gAT

T.A-1,B-IV,C-1l, D-1l
ZA-ILB-I,C-1ll, D~|
3A-IV,B-NLC-I, D-1l
4 A-1LB-1,C-1l, D-IV

Options :

21052934273.1



21052934274. 2
21052934275. 3

21052934276. 4

Question Number : 120 Question Id : 2105298727 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List | List 11

(Books) (Authors)

A. Sky is My Father I. Chimamanda Ngozi Adichie
B. CHUP: Breaking Silence about Indian Womenl|ll. Gloria Steinem

C. My Life on The Road ll. Easterine Kire

D. We Should All Be Feminists V. Deepa Narayan

Choose the correct answer from the options given below:

TLA-ILB-IV,C-1I,D-I|
2ZA-I,B-IM,C-1,D-IlI
3A-ILB-M,C-1,D-1
4A-IILB-IV,C-1I,D-1|

Options :

21052934277.1
21052934278. 2
21052934279. 3

21052934280. 4

Question Number : 120 Question Id : 2105298727 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 D gl -1 § gferd s ;

@3[4 -1l
(GEd) (cFa)
A, 15 591 A1 HIG3 . Fere et et

B. 9U : sifdT Tr3ciy HE13e Sfead did |1, TR = HE
C. % A% AHE S 11, S FET
D. d1 I8 3iq &t hiAFwy V. ST TR0
i fou e fasegl © O Ol IR g

TA-ILB-IV,C-1ll, D-1
ZA-ILB-IV,C-1, D-1l
SA-IILB-M,C-1, D-l
4 A-ILB-IV,C-1l, D-1I

Options :

21052934277. 1
21052934278. 2
21052934279. 3
21052934280. 4

Question Number : 121 Question Id : 2105298728 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List 1 with List II

List I List Il

A. Glass Ceiling . Promotion of men over women in female-dominated fields

B. Celluloid Ceiling Il Under-representation of women in hiring and employment in films

C. Sticky Floor \Il. Barriers to the advancement of women

D. Glass Escalator  |IV. Low paying and low mobility positions for women

Choose the correct answer from the options given below:

TA-IV,B-1I,C-1,D-1
ZA-N,B-WLC-I, D-IV
3A-IV,B-I,C-1,D-1l
4 A-1,B-1I,C-1V, D-1I

Options:



21052934281. 1
21052934282. 2
21052934283. 3

21052934284. 4

Question Number : 121 Question Id : 2105298728 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gl -1 B gl -1 ¥ gAfed B -

Tl -| GELIRL

N —e— |. HigeT - gd%a & &df H Afgars & go-1 5 gl &
" e ';i

B.Ucgaizs |1 ohedl & Siddt SIR ISR &4 & Afgarsf &1 3wy
ifem PIGIEIEE]

c.fegtwmr |, o &y T ey

ﬁq \v. gigarsi & fore g 9o+ 3R Y TTaras ug

4 feu v fagedl & € 98I SR AU

T.A-IW,B-1,C-1ll, D-I
ZA-NILB-ILC-I, D-IV
JA-W,B-1,C-), D=1l
4A-M,B-1ILC-IV, D-1

Options :

21052934281. 1
21052934282. 2
21052934283. 3
21052934284. 4

Question Number : 122 Question Id : 2105298729 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List I

List | List I

A. Durgabai Deshmukh|l. Secretary of the first committee on the status of women in India

B. Rita Banerji Il Founder of Andhra Mahila Sabha
C. Vina Mazumdar 1. The 50 Million Missing Campaign
D. Pandita Ramabai  |IV. Champion for the emancipation of women in British India

Choose the correct answer from the options given below:

TLA-LB-ILC-1,D-IV
ZA-ILB-,C-I, D-IV
3A-ILB-IV,C-1Il, D-1
4 A-IV,B-1ILC-1, D-1l

Options:

21052934285. 1
21052934286. 2
21052934287.3

21052934288. 4

Question Number : 122 Question Id : 2105298729 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gt -1 @ Gl -1 4 gaferd sifore -

T -| T -1

A. GIITETS GRIAM || HIRd © Afgarsi @f Rufa g&¢t nyw afafa @1 gfaa
BT sSl  |I1. 3 ST GHT B YRITD

C. AT H9HER |1 & 5o Tafer= AR s9

D. ufigar wmErs |Iv. fafew yRa o wigensi of gidd o1 affigH

Jd fer ¢ fgedl § 4 Ugl Il g

TLA-LB-ILC-IIl, D-1IV
ZA-1ILB-IILC-I, D-IV
3A-ILB-IV,C-1Il, D~
4A-IVB-NILC-I, D-1

Options :

21052934285. 1



21052934286. 2
21052934287. 3

21052934288. 4

Question Number : 123 Question Id : 2105298730 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List | List Il

A. Sahayog |l. Resource Centre, Hyderabad

B. Akshara u |l. Resource Centre for "Work with Men', Lucknow
C. Sakhi lll. Women's Resource Centre, Thiruvanthapuram
D. Anveshi  [IV. NGO and Resource Centre, Mumbai

Choose the correct answer from the options given below:

TA-ILB-IV,C-1Il,D-|
ZA-IILBE-ILC-I1, D-IV
JA-IV,B-1L,C-1l, D-I
4 A-ILB-NILC-I, D-IV

Options :

21052934289. 1
21052934290. 2
21052934291. 3

21052934292. 4

Question Number : 123 Question Id : 2105298730 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A GEAN |1 GEHH by, addlE

B.3H&RT ||l 9% fdg 5 o fo7U T s, OGS
C. @l 1. Hfgaratl &1 Guied o, faEsHaRy
D. HG9  [Iv. T3, 3R TO1eH $s, 43

2 feu v fagenl & € WEl SR gHU

TA-1ILB-IV,C-1l, D-I
ZA-IILB-ILC-I1, D-IV
S3A-IV,B-1LC-Il, D-I
4 A-ILB-NILC-I,D-1IV

Options:

210529342809. 1
21052934290. 2
21052934291.3

21052934292. 4

Question Number : 124 Question Id : 2105298731 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Chronologically arrange the following developmental approaches
A. Welfare Approach

B. The Equity Approach

C. The Efficiency Approach

D. The Empowerment Approach

Choose the correct answer from the options given below

1.ACDE
2CD B A
3.A,BCD
4D, C A B

Options :

21052934293. 1



21052934294. 2
21052934295. 3

21052934296. 4

Question Number : 124 Question Id : 2105298731 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fofefed AeaEs IurmEl & Famd § agafeyd DIfve ;

A, BAUTHRT IUFTH
B. AT 3UFH

C. G&dT 3UFTH

D. GG iH0 JURTH

1.A CDB
2.C D, B A
3.ABCD
4D, CA B
Options :
21052934293. 1
21052934294. 2
21052934295. 3

21052934296. 4

Question Number : 125 Question Id : 2105298732 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the instruments of gender mainstreaming?

A. Gender Analysis

B. Training and Sensitization

C. Fieldwork

D. Engendering planning

Choose the correct answer from the options given below:

1. A, B and C only
2. A, C and D only
3. B, Cand D only
4. A B and D only

Options :

21052934297. 1
21052934298. 2
21052934299. 3

21052934300. 4

Question Number : 125 Question Id : 2105298732 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SR @l IO YRTH TH @ T & 3 W (§RHe) 7'
A. oS3 faRayu

. UIRIEUT 3R YdgA=id s

C. Bics I

D. SIS - YT IR g

Fid feu e fawedl § 9 U8 IR g

1. PAAA, B, C
2. Hdd A C, D
3. ®dda B, C D
4, FHIAA B, D

Options :



21052934297. 1
21052934298. 2
21052934299. 3

21052934300. 4

Question Number : 126 Question Id : 2105298733 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Chronologically arrange the following landmark events in the history of Women's Studies in
India

A. Establishment of the First National Committee on the status of women
B. First National Conference on women's studies

C. UGC formulated guidelines on Women's Studies

D. Establishment of Indian Association of Women's Studies

Choose the correct answer from the options given below

1.ABCD
2B CDA
3AEDC
4D, CEBA

Options :

21052934301. 1
21052934302. 2
21052934303. 3
21052934304. 4

Question Number : 126 Question Id : 2105298733 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YRa | \fgae & IR # e & sider @) HefiRed Agwayul geie & dramd § aaRyd
BT

A. AfgeIef @i Ruf et yym iy WAt B /I

B. HigeTTail & &1 H Sfenur Feid wuH TP ST

C. Afeana & R § Srem el gof 1, g s e femn - R
D. 359 THiRiuzH 3 diE—g wiie @ I

1.A B CD
2B, CDA
3.A,B,DC
4D,CBA

Options :

21052934301. 1
21052934302. 2
21052934303. 3

21052934304. 4

Question Number : 127 Question Id : 2105298734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Chronologically arrange the following National Programmes/Missions.
A. National Adult Literacy Mission

B. National Policy on Women'’s Education

C. National Skill Development Mission

D. National Council for Vocational Training

Choose the correct answer from the options given below

1.ABCD
2D, B A C
3.0, A B C
4 A CDE

Options :



21052934305. 1
21052934306. 2
21052934307. 3

21052934308. 4

Question Number : 127 Question Id : 2105298734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fofaiaa sded! / e of Sy § o3aRyd Sifag

A. TP Ulg &R e
p. Afgeirefl &1 e & g H APy Fifd

C. TFH DI G HeH
D, TFTT AT HiRN&0T UREg
1.A,B,C,D

.D,B,AC

2
3.D,A B C
4 A CDE

Options :

21052934305. 1
21052934306. 2
21052934307. 3

21052934308. 4

Question Number : 128 Question Id : 2105298735 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following Acts chronologically

A. The Hindu Marriage Act

B. Special Marriage Act

C. Parsi Marriage and Divorce Act

D. The Dowry Prohibition Act

Choose the correct answer from the options given below

1.D, A B, C
2ZABCD
3C,BAD
4B A D, C

Options :

210529343009. 1
21052934310. 2
21052934311.3

21052934312. 4

Question Number : 128 Question Id : 2105298735 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FafeRed g & Sreed ¥ oafiyd Sifeg :

A. Tog faams sifefAom

p. faziy faare efafom

C. U faare 31k faare - fawsg sifafae
D. Gow Wida s ffefaH

-fd feu TTe g edl & 9 el IR 9 -

1.D, A, B3R C
2. A B C3RD
3.C B AJRD
48 A D3RC

Options :



210529343009. 1
21052934310. 2
21052934311. 3

21052934312. 4

Question Number : 129 Question Id : 2105298736 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the following movements in chronological order
A. Chipko Movement

B. Narmada Bachao Movement

C. Meira Paibi Movement

D. Telangana Movement

Choose the correct answer from the options given below

e

AB CD
2D A CB
3.ACBED
4B, C D A

Options :

21052934313. 1
21052934314. 2
21052934315. 3

21052934316. 4

Question Number : 129 Question Id : 2105298736 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fofafeg sreiaql ®f drasA | afd sife

A. ot 3eaq

B. FHGI FaTi 3figia

C. T3 UIgsT 3figiad

D. TeRTHT Gl

A feu v fawedl F € el 3w g9 :
1.A,B,C3RD

2.D,A C3¥ B
3ACB3R D
4B C D3RA

Options:

21052934313. 1
21052934314. 2
21052934315. 3

21052934316. 4

Question Number : 130 Question Id : 2105298737 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option :

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and other is labelled as
Reason R

Assertion A: Social Entrepreneurs seek to transform societies at large rather than transforming
their profit margins

Reason R: Social Entrepreneurs use a variety of resources to bring societies into a better state
of well being

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

No



21052934317.1
21052934318. 2
21052934319. 3

21052934320. 4

Question Number : 130 Question Id : 2105298737 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AT PERUTE: @3 HfiH (4) 3R TR @ 76 (R) Tl T 8

HFHBY (A) ; GHITTD T U AT BI A Pl UG $I & Foi8 YA D] AP &Y
4 gRafid S B M oY ¢

% (R) : GEIoE Sg4! G @) se Rufd & o & e i er & gaeH! o1 3ug
T ol

IWF HUH & Tl H i dedl H 4§ waii® Jude I 41

1. (A) 3R (R) T TET € 3R (R), (4) BT WG oG
2. (A) 3R (R) GHT 981 € W (R), (A) 1 He! & 6] 3
)
)

3. (A) W1 & T (R) Wl TR o
4, (A) T8 TET E R (R) TS B
Options :

21052934317.1
21052934318. 2
21052934319. 3
21052934320. 4

Question Number : 131 Question Id : 2105298738 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other is labelled as
Reason R

Assertion A: In the last two decades Women Studies have been replaced by Gender studies
Reason R: Gender studies understand gender relations in a holistic way

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options:

21052934321. 1
21052934322. 2
21052934323.3
21052934324. 4

Question Number : 131 Question Id : 2105298738 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR eE R : oo e (A) iR TR & ad (R) Fel T ol
HfEYT (a) : BT S Gl & SrsX egAl = Afgar AeEgql & -H o o/ 21
a9 (R) : SIS E U G aiip O oi=x - a4l ] gHH &1 By $d ol
SUhdad BYHI & e | Fgiied [deedl H I 981 SR 94 ;

1. (A) 3R (R) GHT TEl § 3R (R), (A) BT TG AR B]

2. (A) 3R (R) G ¥el § U3 (R), (A) DI &1 AR TR B |

3. (A) W€ & R (R) W T8 &

4. (A) W1 el § g (R) W1 &

Options :

21052934321.1
21052934322. 2

21052934323. 3



21052934324. 4

Question Number : 132 Question Id : 2105298739 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and other is labelled as
Reason R

Assertion A: Feminist economics is no longer an emerging paradigm within economics; most
feminist economics would confidently state that it is no lenger in its infancy

Reason R: By now orthodox economics has to accept that feminist economics is an
undisputed player within the discipline, academia, scholarship and policy circles

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052934325. 1
21052934326. 2
21052934327.3

21052934328. 4

Question Number : 132 Question Id : 2105298739 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T Py U T : U@ @l e (A) IR G @ dd (R) Bl T g

B (A) : TGS sfogawyTy g srdongwma & YR IEaAE UfadH (GUSTEA) Tal 6
T3 & | AR ARIGTe] IR STy § St (o ofd U8 U] SRaaw | 1ol ¢

ab (R) ; 4 Bleare! Hferawisi & WieR B Ut b Arar; sifogaw fawaf
HPTCID w7, fdgal R ifrTd & H Fidae €0 3 0 Te Y@ a § |

S B b o ) R el 4 € i JuE SR

Mﬁ?( TR TE T AR (R), (4) B OE AR 2
3R (R @ﬁfﬂa“l%mﬁfﬁ A) @1 TEl RS T8 o

21052934325. 1
21052934326. 2
21052934327. 3
21052934328. 4

Question Number : 133 Question Id : 2105298740 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and other is labelled as

Reason R

Assertion A : Women in Development (WID) approach was not successful in integrating

women in mainstream

Reason R : WID ignored diversity and did not examine the process of gendering and
therefore further marginalized women

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :



21052934329. 1
21052934330. 2
21052934331. 3

21052934332. 4

Question Number : 133 Question Id : 2105298740 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
AT PERUTE: @3 HfiH (4) 3R TR @ 76 (R) Tl T 8
Y (a) : e & afean (S 3. &) Teh Surm nienst & e § giied o
T e el |
T (R) : ST, 1. JUFTH 7 fafdeia o1 Suen 1 iR SrefeT uiHaT &1 Wi - USar e &1
041 39 YR IG- Al ol SR &1 SR 31 g
e THT b 3ol § i e § 4 98l W -
1. (A) 3R (R) T TET € 3R (R), (4) BT WG oG
2. (A) 3R (R) GHT 981 € T (R), () BT e! e ] &
)
)

3. (A) W1 & T (R) Wl TR o
4, (A) T8 TET E R (R) TS B
Options :

21052934329. 1
21052934330. 2
21052934331. 3
21052934332. 4

Question Number : 134 Question Id : 2105298741 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other is abelled as

Reason R

Assertion A: Women are powerful agents of change and continue to make an increasing and

significant contribution to sustainable development

Reason R: Women make a considerable contribution to livelihoods, family well-being, natural
resource management, food security which are important assets for sustainable development

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options:

21052934333. 1
21052934334. 2
21052934335. 3

21052934336. 4

Question Number : 134 Question Id : 2105298741 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T P RUTUE: 0@ @ A (A) 3R G @ 9@ (R) Bl T 5

HUHY (A) ; AR GRacH & Widae el (@ole) § iR 9% g1 9ad fdeg 3§
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IRe B & ATl H FHiihd fadedl J 4 98 I

3R (R) ST Tel € 3R (R), (1) P HE1 oG &

3R (R) EHI 981 § TR (R), (A) B Y&l R A8 2

51 8 U3 (R) WEI TR B
Tl 96l § g (R) T8I B

Options :

A
A
A
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Pl o o g

1.
2.
3
4



21052934333. 1
21052934334. 2
21052934335. 3

21052934336. 4

Question Number : 135 Question Id : 2105298742 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: Strategic gender needs enable women to do existing werk better without
challenging the division of labour

Statement Il: Women are less rational than men

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement Il is correct

Options :

21052934337. 1
21052934338. 2
21052934339. 3
21052934340. 4

Question Number : 135 Question Id : 2105298742 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052934337. 1
21052934338. 2
21052934339. 3
21052934340. 4

Question Number : 136 Question Id : 2105298743 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement I: In India, all forms of sexual abuse that a child faces are not reported most of the

time
Statement lI: The subject of child sex abuse is still a taboo in India

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement Il is correct

Options :
21052934341. 1

21052934342. 2



21052934343. 3

21052934344. 4

Question Number : 136 Question Id : 2105298743 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934341. 1
21052934342, 2
21052934343.3

21052934344. 4

Question Number : 137 Question Id : 2105298744 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement I: A structuralist explanation arguing that health outcomes are mainly the direct
result of the impact of material conditions and in particular of the unequal access to resources

related to welfare regimes

Statement Il: Class and gender are inscribed in our bodies and accounts for the socio-

economic gradients in health
In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement || are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true

Options:

21052934345. 1
21052934346. 2
21052934347.3

21052934348. 4

Question Number : 137 Question Id : 2105298744 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934345. 1



21052934346. 2
21052934347. 3

21052934348. 4

Question Number : 138 Question Id : 2105298745 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement I: The Hindu Marriage Act of 1955 proposed the formal concept of equality where
the spouses were deemed equal

Statement lI: The enactment of the 1955 Act granted Hindu Women the right to divorce by
mutual consent

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement || is false
4, Statement | is incorrect but Statement Il is true

Options :

21052934349. 1
21052934350. 2
21052934351. 3

21052934352. 4

Question Number : 138 Question Id : 2105298745 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052934349. 1
21052934350. 2
21052934351. 3

21052934352. 4

Question Number : 139 Question Id : 2105298746 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and other is labelled as

Reason R

Assertion A: Mental health is an important dimension of women's health

Reason R: Mental health is viewed as an interface between domestic violence and health
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :
21052934353, 1
21052934354, 2



21052934355. 3
21052934356. 4

Question Number : 139 Question Id : 2105298746 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052934353. 1
21052934354. 2
21052934355. 3

21052934356. 4

Question Number : 140 Question Id : 2105298747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement I: India’s Female Labour Force Participation Rate (FLFPR) has witnessed a rapid
decline and is the lowest among its South Asian counterparts

Statement lI: Women in India are for the most part, employed in low paying jobs with little or

no scope for labour mobility

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement || are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true

Options:

21052934357. 1
21052934358. 2
21052934359. 3

21052934360. 4

Question Number : 140 Question Id : 2105298747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934357. 1



21052934358. 2
21052934359. 3

21052934360. 4

Sub-Section Number : 2
Sub-Section Id : 210529334
Question Shuffling Allowed : Yes

Question Id : 2105298748 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the given passage and answer the questions that follow:

Women's subordination implies control on their bodies, their sexuality and their labour. The
question is, are the controls on these different aspects inspired independently of each other?
In other words, are there independent motives for controlling each of these? For example, one
theory is that for men keeping women's sexuality under control is the main objective, and for
that women's bodies are kept from the prying eyes of hungry men. These limits curtail
women's opportunities for many kinds of jobs. Thus, controls on women's labour are mainly an
off-shoot of the controls on their bodies that exhibit their sexuality. Keeping women inside is
meant to ensure that one’s bloodline remains pure. The greatest gain to a family from total
subservience of women is the unquestioned command over a women's labour throughout her
life.

Sub questions

Question Number : 141 Question Id : 2105298749 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Keeping women inside homes is to ensure that one’s bloodline remains pure
and, therefore one's property goes only to one's legitimate heir.

Reason R: The fear of women's sexuality and the concern for legitimate heirs and property are
converted into myths of family honour and women's purity. This means keeping women in a
limited physical space, that is, the inside.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is correct and R is not correct

4. A is not correct and R is correct

Options:

21052934361. 1
21052934362. 2
21052934363. 3
21052934364. 4

Question Number : 142 Question Id : 2105298750 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Woman's bodies, sexuality and labour are at the disposal of the family
authorities.

Reason R: In some instances, when a woman gets widowed her marital family retains control
over her by the practice of marrying the widow to her husband's younger brother.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is correct and R is not correct

4. A is not correct and R is correct



Options :

21052934365. 1
21052934366. 2
21052934367. 3

21052934368. 4

Question Number : 143 Question Id : 2105298751 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Women workers form a distinct category as workers because of:

1. Their biology

2. Their religious beliefs

3. The patriarchal controls on their labour
4. Their nature

Options :

21052934369. 1
21052934370. 2
21052934371.3
21052934372. 4

Question Number : 144 Question Id : 2105298752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: The greatest gain to a family from total subservience of women is the
unquestioned command over a woman's labour throughout her life

Reason R: A woman, even when she is distributing the food available to the family, will often
keep for herself less than an equitable share

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is correct and R is not correct

4. A is not correct and R is correct

Options:

21052934373. 1
21052934374. 2
21052934375. 3
21052934376. 4

Question Number : 145 Question Id : 2105298753 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A woman is embarrassed to ask any compensation for her work because she is made to
believe that

A. She is wealthy

B. She is not doing any skilled work

C. Her work is not creative

D. Her work is a labour of love

Choose the correct answer from the options given below:

1.A B C
2ACD
3.AED
4B CD



Options :

21052934377. 1
21052934378. 2
21052934379. 3
21052934380. 4

Question Id : 2105298748 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 2105298749 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052934361. 1
21052934362. 2
21052934363. 3
21052934364. 4

Question Number : 142 Question Id : 2105298750 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052934367. 3

21052934368. 4

Question Number : 143 Question Id : 2105298751 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052934369. 1
21052934370. 2
21052934371.3

21052934372. 4

Question Number : 144 Question Id : 2105298752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AT EERUME: 0@ 3 fiE (4) IR TR @ 7@ (R) Fal T 8

HUFHY (A) : BEAST B1 qUiEU HfidT &1 ! URAR & Gad §81 ar S W1 Afgans|
& 49 W [fddig U 4 $973 W &l

dd (R) : I3 Higel 96 URAR & Judel 3MeR [l Bl 8 dl 98 Ui: U fo goded fee
U o0 OE | Wl B

SUYdd HYHT & i § Fgiicd bl § U diide J9gad S g :

1. (A) 9IR (R) THT FE1 § 9 (R), (A) B Wel A&
2. (A) 3R (R) T T8I & TR (R), (A) BT Te! o4reH] 48] o
3. (A) We1 & IR (R) e TRl ¢

4. (A) Tel 781 & W (R) WeI o

Options :



21052934373. 1
21052934374. 2
21052934375. 3
21052934376. 4

Question Number : 145 Question Id : 2105298753 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052934377. 1
21052934378. 2
21052934379. 3

21052934380. 4

Sub-Section Number : 3
Sub-Section Id : 210529335
Question Shuffling Allowed : Yes

Question Id : 2105298754 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No



Question Numbers : (146 to 150)

Question Label : Comprehension

Read the following passage and answer the questions given below. Select the most
appropriate option:

There is a direct relationship between gender equality, women's empowerment and climate
change. On the one hand, women are disproportionately vulnerable to the effects of climate
change, which could, in turn, exacerbate existing gender disparities. On the other hand,
women have unique knowledge and skills that can help make the response to climate change
more effective and sustainable. Climate change policies that therefore take account of gender-
based vulnerability and the unique contribution that women can make could help advance
gender equality and women's empowerment while fighting climate change. As the world
moves towards the post-Kyoto climate regime, it is essential that climate initiatives at all levels
pay particular attention to the interlinkages between gender and climate change and that
women are engaged at all levels of the decision-making process. Climate change impacts men
and women differently, given their different roles and responsibilities at the household and
community levels. Women are more exposed and vulnerable to climate change because they
are often poorer, receive less education and are not involved in political and household
decision-making processes that affect their lives. Cultural norms related to gender sometimes
limit the ability of women to make quick decisions on whether to move to safer grounds in
disaster situations until it is too late.

Sub questions

Question Number : 146 Question Id : 2105298755 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Investing in women as part of the climate change response leads to environment

gains and greater returns

Reason R: Gendered cultural codes of dress may inhibit women's mobility during a crisis,
resulting in higher disproportionate mortality during many disasters

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is correct and R is not correct

4. A is not correct and R is correct

Options:

21052934381. 1
21052934382. 2
21052934383. 3
21052934384. 4

Question Number : 147 Question Id : 2105298756 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: During extreme events such as droughts, floods and other climate-related
disasters, women face additional risks due in large part to gender inequities

Reason R: Women are often discouraged from learning coping strategies and life-saving skills

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is correct and R is not correct

4. A is not correct and R is correct

Options :



21052934385. 1
21052934386. 2
21052934387. 3

21052934388. 4

Question Number : 148 Question Id : 2105298757 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Why are women more vulnerable than men to climate change?

A. They receive less education

B. They are biologically weaker

C. They have less access to and control over the resources

D. They are not seen as decision-makers and development partners
Choose the correct answer from the options given below:

1. A, Band C
ZA CandD
3.ABandD
4B Cand D

Options :

21052934389. 1
21052934390. 2
21052934391. 3

21052934392. 4

Question Number : 149 Question Id : 2105298758 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement I: Women have unique knowledge and skills that can help make the response to

climate change more effective and sustainable

Statement II: Women's voices, responsibility and knowledge of the environment and the
challenges they face will need to be a central part of the adaptive response to a rapidly
changing climate

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct

Options:

21052934393. 1
21052934394. 2
21052934395. 3
21052934396. 4

Question Number : 150 Question Id : 2105298759 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Why is it that often during climate-related disasters women are not able to make quick

decisions?

A. They have fewer opportunities for meaningful participation
B. Cultural norms are a deterrent

C. They are more emotional as compared to men

D. They are easily frightened of disasters

Choose the correct answer from the options given below:

1.C.D
2 A B
3AC
48D



Options :

21052934397. 1
21052934398. 2
21052934399. 3
21052934400. 4

Question Id : 2105298754 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension
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